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���� ��4��� �C3������ ��8������ C3�� ��� �����9������� ����� ����������� 6����
9��� 97��9��5� ��� ����3��3��� � ������� ��� ��������� ���8������� ���� ���9����B
����9�� �������:��9���� ������;���8�����������F������3����������%���������B
9�9� ��� ������� �����7�� ����������8��� ���� �3��������� � �������� 8������ ������ ��B
 �9���9��3���8��������3��� ��������8���������9���8�8���9��� �������� ����B
��� ��� ���� ������� ����  ��������� 9�� 9����������� 9�� ����� 8����� ��� 8��9�������
9�� ����8����������������9���6����� 3��� ��;�����4����9�9�������9��C3�� 9��B
�������� ���� ��8���<���9�9���9�� ��� ������9�9� ����:����� ��� ��� � ���3��3��� ;��
<����������� 8��� 3�� 9��8��F�������� 9��� �����7�� 9��9�� ���� ������������� 9��
��� ����3��3��� � ������ ;� ���� 8��������� ��������� 8���� �38��������� 6����� ���� ��B
8���������������9������������� ���������������������������9�����������6�B
4�9�� �3����� 9�� ��� ������:�� �E�� ������6�� 9�� ���� 8�6G������ ��������� ���� ����
���� ���� ���������������� 9��� ��������� � ������%

��� �3�6��� 8������� 8��� ����� 8������ ���� ���������� ��������� �3������ C3��
���������F����� ���� 97��9��� 9�� ���� �������� ;� �������� 6��� ���9�9�� �� 9����B
�3���;� �E��4���� ����� ���������� ���6��� ���� ��9�� �� ����9�����������3�4�B
����9�����8�������� �������C3����� �H8������ ��� 9����9���9�� ������� �� �����B
9��� 8�4������ �� ��<������3��3��� ��� ��F� 9�� ���� ���9�9������� ������9������(�
���� 9�� ������� �� ��� ������%� ��� ����� ����3�����9���� ��� 8������ 6�4���8���� ���
� ���3��3���3���3 �����8��<����������������� ��� �������9��9���������������
���C3����38:�8�������8������8��4������ ��������� ����������� ����9����93�(�
������F�9:�� �3����3������ ���8����3����8���� ��� ���9�� ��9:��9��8���������
��� ��F:�� 9���8��9�������9�� ���� �������9�����6�9�� ��� �����9��� ;� �����
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8������ ������������ ��� ��� ��;����� 9�� ����8������3��� 9������:�� �� ��<�����B
���9���8��4����� � ������������9���9��8��� ���� ���� �������������������C3�����
��� ����� ��� ����9��� 3��9�9��� 9�� ������� �� ��� ������%

���4�7�� 6�4�E� C3�� ��D����� ������ ���� ��F����� 9��� 9�������7��� ���  ��9��
9�� ��8������F���:�� 9�� ���� ���39���� ����:������ 9�� ���E����� ���97����� ;�
3��� �����������:�� ��;��� ��� ���� ��8������ ���������:������ ;� 9�� ��;3�B
�3����8���8�����9������ ������� �9����%� ��� ��� �<������������� ���9�4���������B
��� 9�� ��� ������� ���:�� � ������� ��� ��� ���9����� �����4������ �3�C3�� 7����
�34������ 8������������� ��� 3��� C3�� ����� ������� 9�� ������� ���:�� ;� ��� ����
������9�9��� 9�� ����3������%

=���������� ������ ���9�������� �9������� 9��� ��E������ 9�� ��� � ���3��3���
��� ��� �����H��� �����4������ ���� ����8����38��������9���3�6���9�� ���� ���B
����� ���97������ 9�� ���� 8������ 9���������9��� ;�9�� ������� �� �������� �����B
�����������C3�� �� 3��� ��38E�9���� 9�� <����� ���������� 9�� ���� 8��4������
� �������%� ��������6���9���������9��8��7��������8��������� ��������� ��� ���B
��� 9�� ��� ������� 9��� 9���������� ����� ��� ��� ������ 9�� ���� 8��������� 8�4������
������9��� ��� ������%� ��� �4���� 8����� ���������� 8��83������ 9�� 8��������� 9��
9���������� ��� ����C3����� � ���3��3��� ������3�� �3 �������������;����93���� ��
��������F��� ���� ������43������� 9�� ��� � ���3��3��� ��� ������������ ����:�����
;� �� ���9��E�����9�� �H8����������%������� ������� ���� �� ���������E�� ��9���9���
8��� ��� � ���3��3���� ������ ������ 43����� �8�����6��� ���� �������� ��������B
��������� ;� ��� 9���������� � ����93������� 8���� �����3���� ��� ������ ������
 ��4��%� ����� ������� ���� 8��� ��� 9��E�� 6��� ��9�� �����8���9��� ��� �3�6���
8����������� � ��9��9��8�������������������%�=�������3���9��9��������������B
������ ��� 6�� ����F�9�� ��� ���� �������� 9��� 97��9��� ��� ���������  ��4�����
C3�� ��8���<����� �3�6�� ������ ���� 8�������� 9�� ����<������:�� ����3��3�����
���� ����� ��� 8�8��� 9�� ���� <�������� ����3��3������ ��� ��� 9����8�D�� � ��������
�����C3�����6���8����� �9��;�8������9���������9�4�����9�����97��9��9������
��������� ����3��� ��� ���� E�4����� 9�� ������� ���:�� 9��� ������@3�9���%

?��� ����� 8������ ��� 97��9�� 9�� ���� ��6����� 6�� ��9�� 8����<���� ��� ���39����
C3�� ����������� ��� ���8����� ������ 9�� ��� � ���3��3��� ���� ��� ������ ��
���������:����� ;� C3�� �H������� ���� �<������ 9�������� �� ��9�������� 9�� ����
8��������� ���������:������ ��� ��� 9����8�D�� � ������� ;� ��� ��8���9�9� 9��
��3�����F��� ���� �<������ 9�� ����8���������83�������� �����������%� �9��E��8�B
������ ���������� ��� ���� �������� �D��� ����9�9���9�� ����9���3������� ��4��� ����
8�� ������9����<����� � ������� ����������� ���8�8���9����� ��������� �����9��
���� ����������� 9�� 8��93���:�� ��� ��� � ���3��3���� �3��������� C3�� 8��������
6�4����� �4��9���9��6���� 3��� 97��9�%� �9������������� 6��� �3� �9���8���
��F:�� 9�� ���� �7������� 9�� ��� � ��9�� 9��� 9����������� 8���� ���4�7�� 9�� ����
�3����� ���9��������9������������ ��������������� �3����� ������ ������ � ��B
9�� 9�� 8��������� � ��������� ��� 8�����3���� ���� ��8������ �������������� �� ���
���8�������9�9� ;� ��� �������4�I9�9� � �������� ���� C3�� ���E�� ��38��9�� 9�



1� � � 	 � � � � � � � �A

������� ���������� ��� �����7��9�� ���� ������������ ��8����������� ���9����������
����:����%� 1����������� ���� �3����� �������������� 9�� ��� ��������� �����B
�3������� 6��� 8��8�������9�� ��<�C3��� ��8��������� 8���� ��� ����� 9�� 9���B
������� ��� �������� 9�� 8��������� � �������%� ���4�7�� 6��� ��8���<���9�� ������
��� ������ ��� C3�� ��� ������ ����� 9����������� 8�����3��������� ��� ������:��
���� ���� ������3������� 8��������%

��� ��C3����� 83��� ��� ���������� 3�� ��<3��F�� 9�� ���3���F���:�� ���8�����
9�� ���C3�� 6�� ����9�� 9��������E�9���� ��� �7������� ���97������ ��� ��� ���B
������� �������������� ����� ���4�7�� 3�� ��<3��F�� 8���� �������8����� ���� ��B
����9��9����������� �������;�9�����8�������� � ���������������3��������9����B
���� ������ ���������������� ����� ����������� 9��� ��9���� ����:����� 9�� 9�B
��������%

���� ���3���F���:�� 9��� ������������� ��� ������ �E�� �� ��<�������� ��� ��� �9B
������� ���8��8����9�9�� ��� �������93�4��� ;� ��� 9�����������:�� ���C3�� �� ������
8������� �3�������<��������3�� �����������4������;�C3�� ��93�������������B
���� ���9����������9�� ����������:���C3������ ������� �������8����4���9�9���9��
9���D���8��������%� )���� ���3��3����9����7����� )������ ���E�� �H8���������B
9��3���8��<3�9�� ��������:�� ������ ��� �3� ����3��3��� �������� ����� ���8�����
9�� �3� 8�����:�� ��� ��� ����3���� 9�� ��� ����3��3��� ����:������ ��� ����8��C3��
���E�� ��������� ��� ��������� ���4�������C3�� ���3����� ������ 9�� ���� ����<��(�
��������� 9��� ����9�� �����9��� ��������� �������������� ;� 9�� ���� �� ���� 9���
�3� �� 9�� ���� 8��������� ��������%� ����� ��C3����� �9�8����:�� ;� 3��� ��;��� ��B
8���9�9� 9�� ���83����� ������ 9�� ���� �� ���F�������� 8��93������� 8����9���
����� 9�� ���� ���8����4���� 9�� ���� 8��������� ������������� C3�� �38���� ��4���
��9��3��� �3���� ��������� 8�������� 9�� ��� � ���3��3��� �����9�9�� ����� 3���
��;�����8���9�9� 9�� �� ������:�� ���� ��� ����3����9�� ��� �����9�9� ;� ���� ����
������ ��������� 8��93������� ;� �3����� �7������� 9��9�E�� �� ���� ���� ���8��B
��4���� 9�� ��� 8�������� ���������:����%

����� ��4��� 8�����9�� ������43��� �� ���� ���3���F���:�� ;�8��8��������� ���B
�������9�� ��E������ ;�9�����������:�� ��4��� ��� ��������� 9�� ��� � ���3��3��� ��
���� ���39������� 9�� ��������� 9�� ������ 9�� 8�� ��9�%� ��� ��38�� ��� 8������
�3 ���9����8���������������43������� ����������� �E�� ������������4��� ���8�8���
9�� ��� � ���3��3��� ��� ��� 9���������� ����:� ���� ���� ����� ���� ��<�C3���
��9������ ��4��� ��� ����<������:�� ����3��3���� ��� ������:�� ���� ��� � ���3�B
�3��%� !��837�� ��� �<������ 3�� ��8���� 9�� ���� 8��7������ �� ������ ��4��� ���
8�8��� 9�� ���� �4��E�3���� ����3��3������ ��� ��� 9����8�D�� � �������� ���3�B
��F��9�� ���� �7������� 9�� ���� 9�4����C3�� <3�� ��������������� 9�� ���� 97��9���
9�� ���� �������� ;� ���� �������%� )3� �� ��� �H������� ���� ���������������� 9�� ����
�����9��� � �������� ;� ���� ���������� 9�� ��E������ ����:����� 8����������� ��
���� �����8����9��837���6��9������ ��������������� ������ ��� � ���3��3���;�����
8��������� ���������:������ ��8������9�� ���� 9����������� �����������9�� ��� ����B
��� 97��9�%
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J�� ��8��3��� ��8��������� ���3���������� ��� ���C3�� ��� ��<������� ����8�����B
���� � �������� ���8����� �� ���� �3����� ��� 8��8���� �C3�� 3�� ��<�C3��  �������
������9�� ��4��� ���� ������ �E�� ����������� ;� ��� ������ ��4��� ����8�E�������9��
���� 8��������� � �������� 9�� ���� 8������� ���� C3��9�<������ �����������%� ���7�B
<����� �C3�� ��� ��<����� ��8����������� �� ���� �3���<���������� ����������� 8���� ����
��������������� ��� ��� � ���3��3��� 9�� ��9��C3��83�9��� ������������������B
�������������� ��8���<����� 9�� ��� ������9�9� � ������� ;� �� 8������ 9�� �����83�9���
��8������� ���� ���������������9�� �����9��;�9����� �����9�%�1���������� ���
�����8���� ��� ��E������9�������3����� ������9��� ��9��8��������8���������� ��B
������� ��� 9������ ��� ���8�������9�9� ;� ��� �������4���9�9� � �������%� ��� �������
��8��3��� �4��9�� �����9���������� 9������9��� ��4��� ���� ��<�C3��� 9�� ��� �3�B
��� ��������� ������3������� ;� �3�� ��8����������� 8���� ��� � ���3��3��� ;� 8����
���� 9���������� 9�� 8��������� � �������%

����� ��4��� ��� 634����� ��9�� 8���4��� ���� ��� �8�;�� 9��� 1��9�� 1����������
9��?��;������9��!�����������1���9���;�9���3���������� ������� ��������@�����
9��� �������� "3����� 9��@����� C3���� �����3�:� 9��9�� �3�� �������� ����� �����%�
!�4��� ��9��������4�7����� ������3������������������9��=��8�����:��� ��B
������ ��� � � �� �3;�� ��8���� ��� ���39������ ;�9���3������� ���� ������ ;�C3��8��B
��;:� ���� �8�;��� �� �������� �����������8���� ���� ������� 9�� ������� ���:�%

��� �����7��9�� �9 ��9��@�����9��� ��8����������� ����9�����9��� ���� 8����
=����4���� 8��� ���� ������ 8��83������� �����3�:� �3�6�� 9��� �������9�� 9��
����� ��4��%� ��������� 9�4�� � ��9����� �� =������1�9������ ��8����� ;� �4���:��
@��6�9��� ��������3������8�������������3�������� !�����1����9���9������9�B
������� ��8������ 9��� 9���������� � ������� �����9���9��� �C3�%� ������ 8��8��B
��������� ��� 8����� 9�� ���� �9���� �H83������ ��9�� ���� ������� ������C3��43�B
������ ��������� ;� �� ������ 9�4�� ��� ��������������%

��� ����������� =������ �3 3���� 9��� #����� �����F:� ��� ����8�����:��4�4���B
 �E<���� ;� ����4��:� 9�� ������� ���8������� ����� ���������� 9�� ������� �B
��:�%����4�7��������43;:��� ����������3�������� ��� �����������K9 ���L������
���� ������� ����������9�� ��9�� 3���9�� ���� ��8��3���%

1���������� 9�4�� � ��9����� �� =���3���� ?E�F� ��9�� 3�F� 8��� �3� 8��B
�������� 9�9�����:�� ;� ����4�����:�� �� ��� ��� �� 9�� ��� 8��8�����:�� 9�� �����
��4��%
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J 3�� � �� � ���� �������� 9��� 97��9��� ��� 6��� ��9�<���9�� �����9���4��������
����8���8��������9�� ��E������ ���� ����C3�� ��� �H�����4��� ���� ����������� ������
��� � ���3��3��� ;� ��� 9���������� ����:����%� !�� 6��6��� ��� �8���:�� 9���������
��� ���� �D�������3�����;���������9�������4�� ��4��� ���8��8�����:�� (�<��� �� ���
�������9���9����������4���9����� ��� ��93�������F���:�(�9��C3�����9�4���� ����(�
<����� ����<����������� ���3����� 9��9�� ��� � ���3��3��� 6����� ��������� �E�� 9��EB
������� ��� 8�����3���� ��� ������� ��93������%� )�� 8���8������� ���3��� �����9�����
8�����������������C3������ ���3��3���6��9���9��9������3���������C3��;��������
������� �� ����<����� ���3����� 8���� ��� <������� 9�� ��� ��93�������F���:��� ������B
��7�9���� �E�� 4���� ��� 3�� ������� ��8�F� 9�� 9����8�D���<3�������� ��8��B
������� 8���� ��� ����3���� 9��� 9���������� ����:������ ������ ����� ��� �3������
9�� ���� �� ������ 9�� �H8������:��� ���  �������:�� 9�� ��8����� ��� �������� 9�� ���
�� 3��9�9� ������������ ;� ���� ��8���9�9� 8���� ������43��� �� ��� ����9�����:��
9�����8�4��F�� �������3���������3�4���%� �������������3��������������8�8���9��
��� � ���3��3��� 6�� ��������9�� 9��9�� 3��� �������������� 8������ ��� ��9�� ���
������� ��� ���� ��9����� 9��M��93�������F���:�� <3 �9�M� �� ����� ��� ��� 97��9��
9�� ���� ����3������ 6����� 3�� ���������� ��������������� 9�� ��� �����9�8��9��B
���� ������ ��� ������������ � ������� ����93�������;� ������ �C3���;� ��� ������������
 ��4����8���8�������C3��<3��9���������93������ ���� �D��� �������� ;� ��������
6����� ��� ��� <���������� 6����� 3��� ��������F���:�� 9�� ���� ������43������� 9�B
������� 9�� ��� � ���3��3��� ��� ������������ ����:������ ���������� 6�;� ������ ����
����������9�� ��� �������9���9���������%

)��� ������C3���� 3������������8���������9������������3��9���������3B
��:�� 9�� ����9�4����� �34��;��9�� ��� ����� �H����� ��� ������9�9�9��3��8�8���
�E�� �������9��� ������� � ������� ��� ���9���������� ����:�����;�8�����8�����B
��� ��� 3� ������ 9�� ��������F��� ���� 8���4���� ������43������� C3�� ����� �������
83�9�� 6����� 8���� ��� 3���� ��� ������������� ��� ����4���9�9� ;� ��� �C3�9�9� 9��
����8�����%

!�� 6��6��� 93������ ��� 8����9�� ����9���������� �� 3������ �� ��� �� 3�9��
 3����� �3�9����� ��� 8������� �H������3�� ������ �����8�3��� ��:����� <E������B
��� �8����4��� ��� ��E������9�� ���� �����9�9��� � �������� ���������F�9���8���  ���B
9��� 8��8��������� 9�� 8�4����:�� ���8�����N� ��� 4���� 9�� ���� 8�����8����



$ $ � 	 � 	 � � � � � � � � � � � � � � � � � � � � �

������43������� ��������3����� �� ���� �3���������� ������� 9�������4�� �E��4����
��� ���8�����������9��8�������� ����:����� �3� �9����� ���8��� 3�����;�8����B
�3��������� ���8����� �� ��� �����9�� ��93�������F���:�� <��F�9�� ;� �� ��� 8��������
9�� �3����3��:��9�� ��8����������%� !��9�� ���� ����:��9���8���9� ���9�� �����B
93�������F���:���  ���� 8����� 9�� ���� �� 3������� ��4��� ��� 8�8��� 8������ ��� B
��9�� �� ��� � ���3��3��� ��� �8�;�4�� ��� ��� ���9������ 9��C3�� ���8�������9��9�B
��������� ����:����� ;� ��� ����<������:��C3�� ���� ����8�D��� ��6�4��� �������B
��F�9��8���3��9��8��F��������9�� ��� �����9���4���9��9����� � ���3��3���9��
�������8��93�����9�9�6�����������3<���3���9��8��93�����9�9� �����9��O�9�B
������ ��� 6��E�� �����9���������� �E�� 9������9��P�� ���������9�� ���� �����C3��
���8�� ����� ����:����� ����4�� ������9�� ��3�� 8���:��9�� ����<������:�� 9��B
9�� 3��� ��������� <3�9������������� � ������� �� 3��� 4���9�� ��� ��� ��93�B
������ ���C3�� 8��� �383������3���<���4�� ��� �����3��� 6����� ��� ��93�������F���:�N�
���������3���������������9���4��C3�� �����8�����;���������9���4���������E��
8��93������� ��� ��� ��93������� 9��9�� 8��9�����4��� ���� ���������� �� �������
;��������������� �H��������C3��������� ���3��3�������3�������4���3������������;�
9�� ���9��������� 9�����������%

��� ����� ����3����������� �C3������8���������C3�� ��� ����� ���� �7�������9��
��������4��� � ���3��3��(��93������ ��� ������� 9�� ��� � ���3��3���� 8�����������
����8����� ���3����� �� ��� ��93������ ;� 9�� ����� ������� �����3���� ��� ��3�3��B
��:��9����8�������������������;�����������3����9�������������N���������8��B
��4�� � 3�������� C3�� ��� �<����� � ������� ���� �������������� �������4��� �� ����
8�������� 8�9���� �<���3����� ����<��������� 9�� ��8����� 9��9�� ��� � ���3��3���
��9������ ���� 8������� ����������� ���� �<������ �����9���4�������� ��� ������ 9��
8��93���:�� � ������� ��� ��� 9��8���4���9�9�9�� ����������8���� ��� �������3�4�B
��%� ����� ��� � ���3��3���� ��� ��� �H8����:�� 9�� )������� M��� ����:� ���� <���3������
����� 3��� ����� �� ��� 9�� ��� �3��� ��� 8�9��� �H������ 8�������� ;� ��8����M� ����
����� ���� 4������ 8���� ������������-%

�� ���� ��� ��� 9�� ��� � ���3��3��� ����� 3�� 9�8:����� 9�� ���3����� ������B
43��� 8��� ������� ��� ����4��� ��<�3������� ��� ���� �������� 9��� 9����������� 9�� ����
��9����� 9�� 93�������� 9�� ���� ��9����� 9�� 9���������� 9���C3���4��9�� ;� 9��
������ ��9�����9�� �����������������:��8��9����������93������ ���� �D������B
�3������ ��� C3�� 6�F�� C3�� �3�6��� ������������ ��� ������������� 8�����8��B
������ ��� ��� 8�8��� 9�� ��� ��93������ ����� ��83������ 9�� ���� ����<����9�����
����:��������������9��8������8���������8���4����������439�����9������ ��B
�3��3��� ��� ��� ������������ ����:����$%

-� �����F��%N�=%����6��%�M� ���3��3����!�����8������9�������L����������?���8������G��������6���
=%N� �%� �����F� O�9�P%������	��	������������� ��� ������������ ��� ���� ������ ������ � ��6�� L�8Q����
J��������;�?�����������������-..+��8E %�O�H����������:�������8�D���9���1=�P%

$� "3�����������G����;������<�9�����8�����5�!3�����G�����=6����;�L%N���%������������O�9�P%%�
���������� ����������������������� ����%���������������������?34���6�����������9����-.00%



� � � �  � � � 3 � � 3 � � � ; � � � � 9 � � � � � � � � � � � � � � : � � � � ,

�� ������F��� 9�� ���� ��������� ���� ��4�� ��� 3�� ��<�3;����� �����3��� 9��
��6������ ;�@�����,������F:� �� ������� ��� ������:�� ��4��� ���� ������43�������
9�� ��� � ���3��3��� ��� 9���������� �3�C3��8��� ������� ��� 3��� 8���8������� ���B
����������� <3�������N� 8��� ��� 9��E�� �����M��<�C3��<3�������M�8��9����:�
������97��9��9��������������;�������������������������������������������4������
�������� ��8��3����� ;�8����383����� ��� ������:�� ���� ���� ��������������8���B
������ C3�� ��� 9������� 9�� ���� ��<�C3�%� L�4���� C3�� �D�9��� C3�� 8���� �� �3�
�H���8������9�9�� ���� 8���8������� 8�������� ��9����� ��� �3�6��� 9�� ���� ���B
���������C3�� ��� ��38��� 9��� ������%

=��<����� ��� ��<�C3��<3��������� ��� ����������� ��� ��� 8��93���:�� ;� ���
���8��93�����9�9� � ������� ������43;��� ���9���������� ����:����� �� ����7��9��
��� 8������:�� 9�� ����������� 9�� ��� �H8����������� ����� <3������  �����9�����
9�� 9������� 8���� ��� ��8������:�� 9�� 4������ 9�� ��8����� ��C3���9��� ��� ������
����������9�� ��� ����<�������� 9��<3��F�� 9�� ���4����9��9�� ��� � ���3��3��� 6�����
��� ��93������ 9�� ����<������:���9�� ��� ��8�����:�� 9��� �����9��8���� ����8��B
93����� ��93��������� �� ����7�� 9�� ���� �3������� 9�� ���� �� ������ ������ 9�� ���
8�4����:��� ��������;�<�����������8����383������9���������<��������9�� ���3�B
����9�� ��8�����9��9�� ��� � ���3��3��� 6����� ��������� ��� �H8����:�%

�����8����C3������<3��������9��� ������� � �������C3�����4���9�� ��D�������
83�9��� �3�8������ �����<�������������� ��� 9������ 8���� C3�� ��� � ���3��3��� ���
8��93F���4��C3���� ��� ��� 9����������  �������9�� ��� ��������� O�������:��9��
����8�������9�� ����4�����(�������� ��� ���� ���������3�4������ ������ 3���������
9�� �����8���9�9�9�� ��8������:��� ���%P���� ��C3������8���������8���� �3�������
���8��93���:�� ;����8��93�����9�9�� �3;��� ���8�������� <3�9���������� ����
��� ������� ���:��� ��� �H�����:��� ���� ���������� 8���� ��� ����4����������� 9��<��B
����9�9��� ;� ������9��� 9�� ���3����� ;� ���� ���������� ������3���������9�� ��7B
9���� ;� �����9���� �9��E�� 9�� ���9�����:�� 9�� ��<������3��3���4E����%

)��� 9���3�������C3�� ��� 9��8���9������ 9��� �����9�� ��<�C3�� <3��������
9�� ��6������ ;�@������ ������43;����� �� �������� ��� ���� ������������ ��� �9���
9��C3����� � ���3��3���83�9�������� �����3��� ������9�9�8��������������8�B
������� ��� ���9����������� ���������������43;����� �� �����3�������9�4���� ��4���
���� �����9�8��9������� ������ ��� ������������ � ������� ;� ���� ���9�������� 9��
���� ����<���������9�� ���3����� �����������������93��������� �����3����9���9���B
������%� �9������������� ����� ��<�C3�� ������43;:� ���4�7�� �� ��������� ��� ��B
8���������9�������9������8�������9�������������� � ������� ��� �3����� �����9��
��9�� C3�� 839����� �H8�������� ������ ���� 8��������� 9�� ������������� ���<�B
 3���9�� ���� ��� ���8��9����E������ ��:�����9�� ��� ��������� 9�� ��� � ���3��3����
���C3�� ��� ��8���� �����9���4��������9��9�� ���� �D��� �������%

,� ��6�������%N��%�@������M�6��������<�� ���3��3���������������9�����8����M�� ����������������� �
!����" �*-%/�-.&-����8��93��9������9�3�9��1�:��F�O79%P%� #���	������������������������$���� �1=���
@7H�����-.'$��8E �%�$,���*,%



/ $ � 	 � 	 � � � � � � � � � � � � � � � � � � � � �

=��� ��9��� �3����� ����������9��8�����3������8��������� ��� ���� �����8B
��:��9������ ���3��3��� ����9��3���8�����C3����� ����<����9��9�����3�����8����
���8�������9�� ����<����9:������3��3����9�4������<���3�������� ���;������9B
�����:�� ����� ������3��9��9��3���������������9�9�9�� ���3����� ������ � ��B
�3��3�������9��������������3���9��9����3������9�����8��93�����9�9� �E��C3��
9��3����3�������:��<��F�9��9�������H��9������� ���������;�9�������8�����C3��
���� �����89:�� 9�� ��� � ���3��3��� 9�������4�� ��4��� 3�� �383����� ���8�����
9����� �3����:��9����������������%�!3�����������D���������������<����������9���
9�� C3�� ���� ���8������� ��� ���8��9���� �� ���� ����������� ����:������ ��� ��B
����� :� ����9����� ��8������N� ���� ���3���9��� ����������C3�� ���� � ���3�������
��� ����8������ ��� ����9��9���������� ���� �����4���� �� ���� ����������� 8���� ��� B
���� ���� ���3����� ���� �<��������� 9�9��� ���� ������� ���� �H���������� ;� ���8��B
9��� �9��E�� �� ���� ������������� �����4���� ����8��� C3�� ��� ��8��������� 3��
���� �� �H������/%

?��� ����� 8������ 3�� � 39�� ����;�� �������� 9�� ���6����� ��� ��<�C3�� 9��
��6������;�@������� ������<�3;������������������3���9���������3���������D���B
4�� �����������C3�� ��� 7�<����� 9�9�� �� ���� <3�������� 9�� ��� � ���3��3��� ��� ���
9���������� ����:����� ���3���4�� ���������� �3��9�� ��� 6�� 9�<���9�� 3�� ��B
9���� ��� ���C3�� ��� ��93�������F�9:�� ��� �������3;�� ��� ���� 9��� 9���������� 9��
�3����� C3�� 7���� O;� ��� ��� � ���3��3��P� 9�4����� ���� ��� ����� �9�� 9�� ���������
8��4������ ������ ����� ��� ��8����� ��� �C3�9�9�� ���8�4��F�� ;�8����383����� ���
������4���9�9� 9��� ������������� ��8������ ��4��� ���� �3����� ��� � ���3��3��� ���
8������� ������� �� ��� ��� ��<�C3�� <3�9������ 3��� ������439:�� ��8�������*%

��� ���� 8���8�������� ��� ���� 8������ ����������������� ��� �����9:�� ;�9���B
D��9��8����������������������8������8���<����9��7�����9������9�������3����9��
���� 8��������� 9�� 9����������� ���3������� ���� �H��8��:�� ������������� ��<�3�B
9���8��������<�C3��<3�9�����;�8����3����8����9����%�����������7�����������
�4�������9��8������ ����8�����������8������9�����������3�������������39��������
�83���4�� �� �������� ��� 8��93�����9�9� ;� �� �38����� ���� �������9����� 8��� ���
��9�� 9�� ��� �<������ ������F��9�� 8���3��� 8����� ��� 8�8��� 9�� ��� 9����9�� 9��
8��93����� � �������� ;�8��� ����� ��� 8�8��� 9�� ���� �����9��� ;� 9�� ���� 8��9���
� ��������;����������3��9�����8�8���9�� ����8��������� ���������:������C3��
���� �<�����%

��� 8��9������� 9��� ��<�C3��<3�9������ ��� �<������ 8������ ������9�����B
���9�� ��4��� ����� ���9����383��������8��9������ ������<�C3�5� ���8���������

/� �R%���63��F��G�����<����� ����9��������� ���3��3��M%���S�L������T����J��������;�?������-.&*�
O�H����������:�������8�D���9��1=�P%����4�7������U���6����G) � �8��������9��8��9���� ��������;�
���9��������������:����G�����L�@���3�6S���6�;���3���1���6������� ��������������$�����%������&
�����������'���� �@7H������9�J��6���-.'+%

*� ���6�����R%L%� ����	���������������	��	������������������������'���� ���8��93��9�����=%�U%����6���;�
�%�L%�R���%�#�������	��	������������������������'����� �@7H������9%�)��3����-.&0%



� � � �  � � � 3 � � 3 � � � ; � � � � 9 � � � � � � � � � � � � � � : � � � � *

�����9��M6�8:������9�������������M������3�����8�����C3��������E���������9���B
�������� ���� 3��� <3����� 8���� ���������� 8���8������� �������������� ����������
8������ ���9�� �����4���� ���������:������ ;� ���������� ��8����������� ;� 9��
��9����F���:��� ���� �����9��� ��;��� ����������� �� ���� �����9�8��9�������
���������������;� �� ���� ���8����������9�9��� ���������� ������� ;� �������9��
��������E���������E�4�������������:����%�J���� 3�9���383�����������9�� ���
M�3��9�9� 9�� ���� �������� 6����� �9������M� ���<��� �� �� ��� �H8����:�� 9��
L����6���&��� ��� ��� �3��� ��� �<�����C3�� ��� � ���3��3��� ��� ������ ��8���9�9�
8���� ������43��� ��� ������������ ����:�����  ��4��� ��� <����� 9�<������� �� ���
9���3�8���������<��������������3��<3���������9�9��C3�����83�9�������������
��� �7������� 9�� ���� �3���8����9����� 9�� ��8���� ;�9�� 8��93����� �� ���� ������
���������� ����� C3�� ������4����� ��� � ���3��3��� ��� ������9�� 8�����3���������
8��� ��� ��93�����%� 1���������� 8��� ���C3�� ���4�� 9�� ��D�������� ��� � ���3��3���
9�4��83����3 ��������������������8�8���9��M�����������93��M� ���� ���8��������
9����������� 83����� C3�� ��9�� ��� ��� �� 8���� ���3������� ���� 8��4������ 8��B
8���� 9�� �C3������8������ �������������� � ��������� ��������� �� ��� �� 9�� ��� ��B
93�������F���:�'%

!�������� ���4����� �����F�9��� 93������ ��� 97��9�� 9�� ���� �������� 9����B
������������ ��4�� ��� ����H��������� 9�������������4����9�<���9������������ ���B
��������� � ������� ;� ��� ������������  ��4���� ����������9��C3�� ��� � ���3��3���
83�9�� 6����� ������43������� �� ��<��������� ��� <����� 9������� 8���� ��������
��� �����9��������������9�������������� ����3�����3���%� ��� �<��������� �����:�
C3��3��� ����� 9�� ������������ ��93������� ����� �:��� 83�9�� ���� �������9�� ��B
9������3��� �����9�� ������������ � ������� � 3�������� ������9�� ��9�� C3�� ���
���<��������8�������9���������:�N� ��� �������:� ���4�7��C3����� �3�6���8��B
������������������9�����8��93�����9�9�� �������8�9����H8������6�����3��$+V�
9����� ����� ������9��� ������������ ������9�� ��� ��������0%

?�������������� ��� ���������� 8�����8���9�� ��� ���������9���9���������� ��B
���F:� ��8������� ��;��� ������:�� ��� ��8���� ;� �� ��� 9�����43��:��9��� �� �����
����� ��� ���� �D��� ���������8����9�� C3�� ��� ����:� ��� 97��9�� 9�� ��� ����3���:��
9�� ���� 	4��������9��� !���������� ;� ��� ��� �3��� ��� ��������:�� 9��3��� �������
��9�� ��F� �E�� �����������C3�� ����3��� ��� �C3������ 8������ �3;�� ������������
����:����� 6�4��� ������43�9�� �� ���� ��� ��� ��C3���39� �������� ���� 4���<�����

&� ������� �� � �(����)������%*������� ��� ������� ��� � ��S�L������T����J��������;�?������
=�������3���-.*0%

'� +,��� �8���� ��;���9��������� ��;���9�� )��;9� "%��M� ���3��3������9�����8����� �6���;�� ���
	������SW������;���9��O�9%P�� �����	��	�����������������������% ���S�L������T����J��������;�
?������-.'*%

0� ��6�=6�� �R�%�G�6 �� ������43����� �<�� ���3��3��� ��� ��������� "��S�6%� ����� ��8�������
���9����G��R��6�� �����������@��9��������<<�R��Q�� �?�8�����-.0,%



& $ � 	 � 	 � � � � � � � � � � � � � � � � � � � � �

9��� ������������ ����:����� ���6�4���� ��� �9�� �� ����8�4���� ;� �� ���39�� ���
9�<�������� 9�� �� ������ ������ ��� ����� ;� ��� 8�4��� ��� ���������4��� 8�����9��
83��� ��� ��� ������� 9�� ��� � ��9�� 9�� ���� 8����38�������� 9��� 9���������� 3���
������:���������8�������;�9������9�� �����8����������9�����43��:��9�������� ��B
����;� �� ����������9�9���4E������ ������ ����� ��� �3�����:��;� ��� ������9�%

����� ���������:�� 9�� ���� �4��������9��� 9���������� ��� �7�������9��8�4��B
F�� ;�9�� ������9�9���4E������ ��8���:� ��� ����3�� 8�8��� �E����8�������� �� ���
� ���3��3���� 83����� C3�� ���  ���� 8����� 9�� ���� 8������ 9��� ������� �3�9�� ���
��;����� 9�� ���� 8�4���� ������ ���F����� �3������;�83�����C3�� ����8�������9��
���� ���������� �������3;��� 3�� 9������������8�����8��� 9��� �� ����� ����� ���B
���9�����  �����8�4���9��� ���8�� �����9�� ��� ��39�9N� ��� ����� ����3�����������
���4���� 8��93�����9�9� 9�� ��� � ���3��3��� ;� �3�9�<��������9����8�D�� ��� ���B
��9��:������3��� ��3��� ��8��������9�����8�4��F�%� ����<��������� ����97��9��
��� �����F:� �� ���������� ��� ��8���9�9�9�� ��� � ���3��3���8���� ������43����� ���
����9�����:�� 9�� ��� 8�4��F�� ;� ��� �����<����:�� 9�� ��� ������9�9��� 4E������ ���
�:������ ����������� ��8��3������������� �������3����9�������������N��������3B
9���� 9�� ������ ������������ �����3;����� 8��� �������C3�� ��� �����<����:�� 9�� ����
������9�9��� 4E������ ����4�� �E�� ���������� ���������9�� ���� ���� ��9����� 9��
��93�������F���:��� 8���� ��� ���4��� ��� ��� ��9����9�� �����<����:�� 9�� ������9�B
9��� 4E������ ����4�� �E�� ���������9�� ���� ���� ��9����� 9�� 9���������� � ��8�B
�3����� ;� 8�����3��������� ���� ��� 9��8���4���9�9� 9�� ������� 8��� 8�������� ����
<������F������ ;� ��� ���� ���:��� ��� C3�� 8������ ���� ���������� ������ ������ ������
8���� ��� ����� �����4����%

�9��E��� ��� ���8����������� �������<�������� 9��� ��8���� 3�4����8���� ���
���������� <3��F�� ��4����� ���93��� �� �������� ��<3��F��� ��� ��� � ���3��3��� 9��
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8��93�9:�� � ������� ��93�9��� ���9����9��9����79���� ;� ������ �����9��N� ����
���3���9���� ��� <���� ��9����� C3�� ��� �<����� �3���8����9��� 8����9����� 9�� ����
�3������� 9�� ��� 9����9�� 9�� ���� 6� ����� �3������ 9�����3;�� ��� �7�������
��������������9�9��C3���3��������� ������9��9��������������������9��8������
��� ��F:��9�� ��� ���9�� 8��8��9�����9�� ��� 9����9�� 9��8��93����� � �������%

	����9������:�� 9�� ��� ������� ��� 9��9����������4���9�� ��� ��� � ���3��3���
���3���� 9�� ���� ������3��9��� 9�� ��� ������� ��� ��� ��� ���9�������  ������� ��
����7��9����������3����9����� � ���3��3��� ���� ����������9�9��� �3��������� � ��B
�����%� !�� 6��6��� ��� �3�6��� 8������ ��� ��8���� ��� � ������� �������3;�� 3���
8����� ��8�������� 9��� ������ 9��� ��8���� �3���N� ��8�9�������� ����� 9��9�� ����
���3��9�9������E���� ���F�9������ ��������9��8�4��9:��9������3��3����3B
����� ���� ������9�9��� �3������ ��� � �������� �<������ �8���3��9�9��� 9�� �����B
 3�����8���� �� �� ������ �� ��� 8�4��9:�� 8�4���;� �� ���� �3������ ���8�����3�����
���� C3�� ��8��������� 3��� 8����� �� ��<�������� 9��� ������ 9��� ��8���� �3���� ��

--� �9�������T%�G��;��9��H8����(�)�9�"��S�6G%�R���9�!�����8������88��-$(�.%-.0/�N#� ����%�
���3��3����=6�� ������ � ���3��3��5� ?��93������)��Q� ��� ��9�� ���3��3����!����9()�9�
��93�������F�������	H<��9����������?�8�����/&�-../%

-$� #� ���� ��������



� � ��  � � � 3 � � 3 � � � ; � � � � 9 � � � � � � � � � � � � � � : � � � � .

� ������%�=���� ��� ��� �����9�� ���� ����3���� ������ ��� ������� � ������� ;� ��� ���B
������ ���  �������� �H������ <3������ ����3��������� 9�� 8��93���:�� ;� ����3B
��������� ���������������3������� �������;����� ��������9�� ��9��C3��������B
��������� 9�� ��� ��������� �3���� ��� � ������� ���9�E� �<������ 8��������� ��4���
���� ��93���:�� 9�� ��� 8�4��F�� ;� ��� 9�����43��:�� 9�� ���� �� ������ ;� <�����E� ���
��� ����:�� 9��� ���8�� �� ��� �3�9�9%

�� ��� ���� 9����� ��8������� �4����9��� 8��� #� ���� ��� �3���8����9��� ��B
9���9�������� ������� �����������9���8��H���9������� -%&�����9�������9��3��B
9�9��9��������9���� ������� �������� ������3���� ������9��������9��+%&�3��B
9�9������ �����������3�������� ������N� ���8������������ �3���8����9��������� ��B
 �������8������;��� �����������9���E��4��������<�����C3����������;������7B
����� )�����-,%� )��� ������� ��������� ��� <���� 6��� 9�������9�� ��� ��8���������
9�� ����8�4��9��� �3������O���=����4���� �� ��� ��� �����<�����:��9��� ��+� ?��3B
����8����9�� ����3��3��� �3���P� ����� ��9��� 8����<���������� ���� ����3���������
������ ��� ������� �3���� � ������� ;� ��� � ������� ;� 8���� �3������� ���� �<������
�3���8����9����� 9��� ������������ � ������%

����83����9��9�� ��� 83���� 9�� ������ 9�� ���� 8���������� �9��E�� 9�� �C3������
C3��8���3����� ��� ������������ � ��������9�4������ �����9������� ����C3���3B
������� ��� ��8���9�9�9��� ������� �3���� ��� � ������� 8���� ���8��9��� �� ���� �H�B
 �������9��3��� ��������� � ������� ����7�������9�� ��<������3��3���� ��� ��8�B
��9�9�9���������3�����63��������� ����F����� �3������;��������8�C3�D��� ��3B
9�9��� ;� 3�� ������ ������3������� C3�� 8���3���� ���� ������9�9��� 9�� ���� 8�B
C3�D��� ��8������ �3������ ��� � �������%� ��9�� ����� �38���� ��� ���� ����:�� 9��
���� ���3��3������3��E�4���� �E����8����C3�����9�����8��93���:���9���3�����
C3�� ��� ��C3����� 9�� 3�� ������ 9�� 8��������  ������� C3��  ��������� ��� �:��� ���
����4���9�9�9�������������;���D�����8�����3���������������3�������:��������
����3��9�9���9�����8��93���:��� �������������3���8����������8�F�9���9����<�B
���� ;� �8������ ��8����� <������� ����� �4���� ������������ 8��93������� �� ������3B
���������C3������ �����9���8����9��� ���83�9��� �3�������������:���83�9���
6������� 9�� <����� ���3<��������� ;� ���  ������� �H�������9�9���C3�� �;39��� ��
�3������� ��� �<��������� ;� ��� ������� �� ���� �����9��%

��9��������38������� ��9���D�� ������9�� ���� ������� ��������� ����8���������
9�� ��9��C3��7����� ����8�;��� ���3���3���� ������9�������8������:�� ��4���
���8�8���9������ ���3��3��� ������9���������%� ����� ��8����� ���4�7������4��9�B
���9�������383������9���������������9������93���9�9�;�M9���3��9�9�9������B
����6�9���9������M���383������C3���8��������8������6���9�4�����9�������� 3B
������� ��� <�����9�� ���� ������9�9���9�� ����<����� ���3�����9�� ������ ���������
6�9�� ��� � ���3��3��� �� ����7��9�� ��� ������� �9:�� 8�4����� ;X��9�� ����8��9����
;� ��4��� ��� ��8�99�9� 9�� ��� � ���3��3��� 8���� ������43���9�� ������� �<���F� ��
���� �4��������  ��4����� 9��� 9���������%
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?���<���3���� 9��9�� 6���� �� ��� ����8�� ���� ��<�C3��� ��������� ���C3�� ���
��E������ 9��� ������� � ������� ��� ��� ������ 9�� ���� �3����� �4��������� ������C3��
<3�9����� ��� 3�� ��<�C3�� 9�� �C3���4����  ������-/� �����8����9�� ��� 8��8���B
��:�������3�����������������8��9��9��C3������8���������� ��������9�4������B
��9������� ����� 3��� 8����� ���� ������ 9��� ������  ������� 9�� ���� 8���������� ;�
9��C3������ ������� ����9��9����������9�4��� ���������E�� ���8�8���9�� ��� � ��B
�3��3���� �9������9��8����383�����C3��9������9���8�������������9��9���B
������� ��� �3;�8��4�4���C3�������� ������������F���� �E���E8�9�������C3�����
� ������%� ��� ���� �3���� ������ 9�� ��E������C3��8����� 9��� �C3���4����  �������
�3����� �����9������ ����� �� ��<��������� ����� ��8������ ����������5� �P� ��� 8��B
4����� 9�� ���� �����9�8��9������N� 4P� ���� ��8������ 9�� ���� 8��������� �����(�
����:������ ��4��� ���9���������� � ��8��3����� ;� ���� ��8������9��� 9����������
� ��8��3����� ��4��� ��� �C3���4���� ���������:������ ;� �P� ��� ������:�� �� ����
���8����������9�9��� ������������������ ��� ���� C3�� 839������ ��D������� 9��
�������8�����3���� ���� �����9�8��9������� ����������� ��� �7������� 9��8����B
���� ����� ��8����� 8�4��F��� ;� ��� 9��E����� ;� ���8�����:�� ���������� 9��� ���B
��������� ����:����%

��� �3����� �� ���� 8���������� ��� ������� ��� 8�8��� 9�� �C3������ 8��������� C3��
�<������ ���� 8������� ���������� ����C3����� C3�� ��� 3�� �����H��� 9�� ����������
�����9�8��9������ 9�� �����9��� 9�� 8��93����� ;� 9�� <��������� ������ 8�������
��������� �<�����9�� ��� �3���� 9�� ��� � ���3��3��N� ���� 9��� ��8����������� �E��
��8��������� 9��� ��E������ 9�� ��� �����9�8��9������ ����������� 9�� 3�� ��9��� ���
C3�� ��� � ���3��3��� ��� �3�6�� �E�� �����4��� �� ���� 8��������� ���������:������
��� ������ ����������� �����9�8��9������� ;�9�� ����� ��9���C3�� ��� �3����;����B
8�����:��9��������������� ����������9�8��9���9�� ���� ������������������ ������
���������� 9�� �3�����C3�� �3� �� 8���� ���� 8��������� ������������ ��� 8��4����� 9��
����� ���8���4���F��� �3�� �����3������� ;� �4�������� ���� ���� 8��������� ;� ����
�����3������� ���������:������� ��9�� ��F�C3�� ���� ���4���� ��� ���� 8�������
���������� O8��� ��� ���� 9�� ���� 8��������� ���������:�����P� 83�9��� �������� ���
���8����������� 9�� ���� 4������ ��������4����� ���8����� 9�� ���� 4������ ���
��������4����� �������9�� ��� ������3������ ���� 8������� ���������� ��� ���������
9�� ��� � ���3��3��� ;� ���� �7������� 9�� ��������4��� ����������������%

1����������� ���� ���������� ���E�� �H83������ �� ���8����������9�9���9��
9�������� ��8���9�� ��9��C3��8�������8���3��9���C3���4���� � 39�� ������ ���B
������ ���93��� �� 9�����3��� ��� 8��������� 9��� ������������  ��4��%� ?���� �� �����
����������:��� ����9�4����� ��4������ ��93�������F���:�� ��9����� �����9����� �����
� ���3��3���;������ ��93�������������������� �3����3��������C3���3���<�������6��B
��� ������� 83���� 3�� ��9���� 9�� ������������ 9���C3���4��9�N� ��� ���9������
�������������� �3������ C3�� �3�� �3��9�� ��� ������9�9� 9��� ������������ ���B
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�:�����83�9�� ������9�8��9���9��9�����9��E�����9��3�� ���������9���� ��� ��B
 3����9�9� 9��� ������������ �������� ��� 8�����8��� 9��������9�� 8��� ���  ��9��
9�� �<���������� 9�� ���� ���8����������9�9��� ������������������ ��� 9����� 9��
���� ������8��9������� ������ ���� ������ 9�� ������������  ��4���� ��93������� ;�
� ��8��3����%

������4������8�������� � ������� ���3��8������E����8����� ��������� ���8��8���
9��� ��<�C3�� 9�� �C3���4����  ������� �38����� ���� ��4�� ��� ��� ���������� ��B
������� ���� 8��4��� ��� 8��8���� 9�� ��� ���8���4���9�9� 9�� ���� 8���������
���������:������ ;� ���� ������������ 9�� ��9�� C3�� 83�9��� ����� ����� ����
��� ������ �������9�� ��� � ���3��3���O���C3��8�������������E�������9���� ���3B
9����� �������9������8��������� ������ ����� ������E� ��� ���=�8��3���/P�� ��������
8��4����� 9�� ��� � �9����F���:�� ������3�������� 9�� �3����� C3�� 83�9���
����9����� ����� 8����� 9��� ���8����� 9�� 8��������� ������������ ���� �4��������
�������������� ��  �������:��9�� ��8����� ��� �C3�9�9�� ���8�4��F��;� ��� �� 3��B
9�9� �����������%

��� ���������� ���� 8��������� 6����� ��� � ���3��3��� ��C3������ 9�� 3�� �����9�B
������� �E�� 9������9�� 9�� ���� �����9�8��9������� 9�� ��� ��������� � �������
C3�� ��� �3��������9��8�������������������9�����9��9�������������������������B
����9�� ��� 97��9�� 9�� ���� �������� ;�8�����8���� 9�� ���� �������%� L�;�� ��� �������
9��8����9��3�� ��8������ �E����8����9�� ���9�������;�9������������ ������������
��� �:��� ���8����� 9�� ��� ���<� 3����:�� 9��� ������������ � ������� ����� 9�� ����
����������� ������������������ ��� 9����� ���� ���������������� ����8������ ������ ���
9����������� �������;�����H8����:��9��������3<���3���;�9��������������������
� �������%��6������������������������������9���9�����3����;������������B
����9��  �������:��9�� ��8���� ��� ��� � ���3��3���� ���� ��������� �����������
9�� ����<�������� 9�� ����� 9�� �4��� 9��� ���8�� �� ��� ��39�9�� 8��� ��� ��D�����
��8������ ��� ����C3�� ���� ���������� 6��� ��<���F�9�� �3<������������� ����� ���
9����8�D��9�� ���� �����9���9��8��93������ ��� ������� ���:�� ��4��� ���������
� �������� ;���� �����9��9����������8���8�����9�� ����8��93�������C3�� ������B
�3;��� 3���9�� ���� ���8��� ��8���������9��8�������� � ������%

����������8���������C3�����9������9������8��H�����:��9���C3���4���� ���B
�����C3�� 6�� ��9�� �3�6�� �E�� 9���3�9�9�� 8��� ������� ������ ���� ������������
� ��������� �38���� ��� ��9�� ����� ���8���� �� �����8����� ���� ���3���9���C3��6��
�4����9�� ��� �������9���9����������8�����3��������� ��� ���C3������������ �� ����
����������� ������ ��� � ���3��3��� ;� ��� ������������ ����:�����  ��4��%� ��� �����
�����9��� ��� ���������� �34��;���C3�5

�P� ��9�<��������9�����C3�����8����4�� �������6�;���� ���8���C3������8��B
���� ���9�����������9��9����� � ���3��3��� ������3��  ����8�����83�9���
���������8���9�� �3�9����������  ������� ������9���3�9�� ��� �������� ��� ���
8����� 9�� ���3����� ;� ��� ��� 9���������� ��9������ 8���������C3�� ��<�3B
;��� 9�� ������� �� ������ ��� ���� ����������� ���8��93����
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4P� )��� � ���3������� ;� ��� ������� � ������� ���8��9��� �� ���� ����������� ;�
�3�6���9������7H�����;�<��������9���9����8�D��9�� ��� � ���3��3��� ���
�H8������ 8��� ��� �H��������� 9�� 8��������� C3�� <��������� 9��6��� �����B
������ �� C3�� ���� �����4��� 9�� ������� 9������� �� ��9������N� ������ ����
����������������������������3������������������8�������8�������8��B
93�����;�8������� �E��4�����8�����������3���������� ���4�7�����8����B
��:�� 9��4������8�4�����%

�P� ���9����8�D��9������ ���3��3��� �������<����9���������������8�������
8��������� � �������� ����� ���4�7�� ;�9��<����� �3�6����������E��8��B
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�3��3��� ���� ��� ������ <3����� �� ��<�������� 9�� ���3����%� ����� ��8������ 8��� �3B
83������C3�� �� 3����9����������3�����9�4��� ����9��3������6�9������ ���3�B
�3��� �� ����7��9�� ��� ��<������3��3��� ;���� �������:��8�4������ ;� �� ����7��9�� ��B
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���������9�� 8������� 8����C3������ � ���3�������83�9��� �9�8���� �3����� ���B
���� ����� ��������� ��� 9��8���4���9�9� 9�� ���� ������%

����8�������8��8����3��� �� 3�9�� ���8�� ������ �3������� ������������ ������
� ���3��3��� ��8��F��� �� ��9��3���;���� �������� ������� ��8��F�� �� ����3�� ���B
���43;����� ��8�������� ��� ��� ����3���� 9��� 8������� 9�� 9����������� �� ����7��
��� ����������9�� ����<�3����9�� ��8������ ����� ���4�7��9�� ��� 8������:�� 9�� ���B
�������� �������� 8������ ;� ����� 9�� �4��� 8���� ��� ������ ��������� ��� �H8��B
��:�%�������� 3�9�����8�� ������C3������������3���9����������� � �������3�3��B
������ ��<���F�� ��� ��39��� ���� ������43������� 9�� ��� � ���3��3��� ��� 9����������
����:����[%

���� ��4�� ��� ��� ���� �� 3�9�� ���8�� ��8��F�� �� �3� ���3��9���C3���4����
��8�������� ������ ��� � ���3��3��� ;� ��� ��93������� ������9�� ��� 43���� 8����� ��
����9�<���������9��8��93�����9�9� ;����������������9����� ����������� ���� ���B
������ �3������ ;� 3�4������ ���C3�� 6���� C3�� ��� 8�������� 8��� ���  ������� 3���
4���6�� ������ ���� ��������N� ����� ��8����� ��9�<����� ��� ��4������ 8���� C3�� ���
� ���3��3��� ��� ���� ��� ��� ������9�� ��� ��������%

����9�9��C3�������3������9��������������9��9��������������6������E��
�<��������� ���� �����9��� 9�� ���4����� ���� �����9��� 9�� ��79���� ;� ��8����� ;� ���
 ������� ���<���������� ��������3���������� ���� ������9�9��� ����:������ �3������
;�3�4����%� !��6��6��� �3��9�� ��� � ���3��3��� ��� ���� ��� �E�� �� ��� ��������(�
������� ��� �3����� �3�6�� �E���3�����4��� �� ����<�3��3��������9�� ����8�������
���������:������ O���������� ��8�� 9�� ���4���� ����� 9�� �����7�P� ;� ��� ������ 9��
��� ������9�9� � �� �9�� ;� �3�6�� ������ �3���8��4��� ��� ������� 9�� ���� ���B
��3������� ���9����������8���� ��� ������� � ��������9����9��C3��������3�����B
4���9�9� ;� ���8����9�9� ������ ��� �3����� <���� 9�� ��� ����<������:�� � ��������
��������������� 9�� ����8������ ��93�������F�9��%� =���C3����� C3�� ��� <3��F�� 9��
���4����������� ���3��3����������<��������3;�4����;����8����9������ ���3��3���
�����������������8�C3�D��;���� �����9����� ��������4������� �����������8����
����������� 8���� ��� ������ ����8�� ��� 6�� �H8��������9��3�� �E8�9�� ���4���
������: ����C3�����93�����4�����8����������<�����������8��������8���3�����B
�3����9��8���������9�� �8�;��6����� ��� � ���3��3���� ������ �����8�������9��  �B
������� ;��34��9�����9�� ��9��C3�� ��� ���������9�� ������� ��9�� ���<�3���9�� ��B
�3����� ��� <�����9��� ������� � ������%

��� �����9�9������� ��� �H������E��E���9��������  ����8�����9������8�����B
����9��9����������8���� ��� � ���3��3��� ���6��� ��9���9�� ��4������4����9������
<����� �� ;� ��� O=3�9��� $%,P�� ��� 9������ ��4��� ��9����� C3�� 8��8��9��� �� 3���
����<�������� 9�� ���3����� 9�� ��� � ���3��3��� 6����� ��� ��93������� �����9�� ���
�3�6��� ������ 9���C3���4����� ���������:������ �� �����������������4���� ���
�383�����9��C3�� ��� ��9����9�� ���9��������9�� ��� �������:�� ��� �E�� �����9�

.� +,��� ���8�������������6������;�U��4;%
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��� ���� ��������� ���� ��������C3����� ���� � �������-+N� ���������� ���� ��4�� ���
C3�� ��� �3�������:�� 9�� ���� �H��9����� ;� �3� �����3���:�� ��� �� 3���� 8������
�H8�������� 3��� �� ���� ���9������ �����9����� ��� ���� 8������� � �������� ������B
���� C3��6�� ����9�� �3 ��� ��� ���� �������� 9��� 97��9��� ;�C3�� 6�� 9�9�� �����
���3���9�� ��� ����<�������� �����9�� ���� ���3����� 6����� ��� � ���3��3��� ;� ����B
���� ��9�����9�� ������������ ��� ���� ��������� ��� � �������%� ���� ���8���������9��
��8������������4���� ������: �����������E�4����9������ ���3��3�����������3�B
���� ����<���9����� ����� ����������E�� �3������ �� ���9���������<�������9��������B
����;���3���4�������83����� ����7�������9��8��93�����<�������; ��:���4���9���
����������� ���9��������� ����:������ ��� ��F:�� 9��� ����������� ��������� 9��
����8�������9������8��93������ �������%����3����9�<���������� 3�������<���������
9�����3�����������;������������9��3���� ���3��3����������9��9��9�����83�B
���9�� ������ ������: ����� ��4��� ��9�� ��� ������ ���3����� ��� ���������� ��� <�����
8��93������ ��� ��� ������� ��� � ������N� ��� ������������ 9��� ������� ��� � �������
�3������ ��� 9����9�� 9�� ���������� ;� �� ������3���:�� ���� 8������� � ��������
���������� ��� ������� ����� ���3���9�� 9�� ��� ����������9�9� 9�� ��� �<�����  ��4���
���������������9����� � ���3��3��� ������: ����������������9�%� ���������3��B
����� �������3�������� ����<������9���3������� �������� �������� ������C3��8����3B
83����������E�� �3�������� ���9���������9������������ ;�8������������ ������%

?��� ��� ����������� ��� ���� ���4���� ������: ����� ��� ��� � ���3��3��� ���� 8��B
����������7�����6�����8���4���C3����������H8����:��9�����9����9��9��8��B
93������ ����������������<� ������C3������8������������������8������� ����������
9�� 4������ � �������%� ��� ������ ����3����������� ���� ������������� ��� ���� �7���B
���� 9�� ��������4��� C3�� ��� 8��93���� ��� <�����9��� ������� ��� � �������� ��B
�������� 8��� ���8����� ���� ����<��������� ������9�� ���3�����9�� ��� � ���3��3����
C3��8����������� �H8����:��9�����8���� ������� ������������ � �������%� )��8�B
��9���� ��4��� ��� ����<������:�� � ������� ��3���� �H���������� ��� ����� ������B
��:��9�������������<���5���������7�������9����������4����������<�����4���������
� ���3��3���� ���8��93�����9�9� � ���������� �������9������3�����3��9������8��B
���� 6���  ���9�� ��� �:��� ������3�������F��� ���� 8��������9�� ��3�3����:�� ;�
���4��� �7��������� ���� ���3��3��%�?���9:��������������������3������������B
�39�� ��3�����F�9���9�� ��9�� ��9�������8������� 8��������� ���������:������
��������9����������������������9�9�� �� �9���3��9�����8���8��������� ���B
9�������9������������ �� �H������ ���3����� 9�� ��� � ���3��3��N� ��� ���3���9�� ���
��9������� ���3��4������ �����8���� ����� ���3�������;�3��� �������9�������:��
����������3��3���9��8������--%�=�����9�������8�C3�����9��8���������9���D�9��

-+� �����8�����:�����������8��9�9��8�������38�����:��������9�����9���������9���������������
3���� ���3��3����������9��9��9�����83����9��������������: ����;�9�����9��������������������
9�����9���9�����������������H������9������������������� �������%
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����:��9���������@3�9�����@�9��9���9%���������-.0*��;��������� �����	��	����������������� �
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� ���3��3��

(�=��4���������3���B
���
(��3����������� ��
( ��� ���������;��� �B
��F���:��9�� � ����B
9��
(� �������:�� �� ��<�B
�� ��� � � �� � ��<�� � �B
��3��3��� �3���

=�����43��:�� 9��
���� ���3��3��� ���

������ ��� ��

(� ����4������ ��� �3B
������� � ��� ��93������
�� ����7��9��� � ����B
9�
(� �� ��� ��� � �� ;� �� �B
���� ���8����<������B
�������9����������9���
�������� ��8��3����
(�@������ ������9���
�����9��9��<��������
8���� � � � ���F���: � �
9�� ���� ���3����� � �B
�3�����

�� �� ����: � �9�����
� ���3��3��������

������ ���
O#���3���� � ����(�

����:�����P

(� � �93���: � � 9�� ���
8������8���:��9������
������������ ���� ��B
��� 9�� ���� ��  ���� ��
3�4����
(������3����8������B
 ���� 3��� �<���������
�� ����� ���3��3��
(�����<����9��9����B
�3����� <3���� 9�� ���
� ���3��3����8������B
8����9������8��4��B
����9��9�����439:��
9����� �����9������9��
��� 8 � �93 ���� �9 �9 �
9������4���%

)��� ���3��3���� � �
������ ����

��93�������F�9��

(� � �9399�� 8����9(�
8 ���: � � 9�� ���� � ��B
� ������ �� � ���  �����
9�� ���� ����3� �9�B
���%
(� ! �����43��: � � 9���
�� ������3���4�������
9��8�������%
(����9����8������ ����
��93������ 8������ ��
8����9�������<3��F��
9�����4����������� ��B
�3��3��%
(���8��������4���B
������;��4����������B
<���9������M�������9��
��9�G

13����5�?�����=%��������M�6��� ���3��3���������<��������G����8%�0�9��L%�=6����;�;���%�������������
O�9�%P��������������������������������� ����%����������9��������������-.00%

8���� �������������� � ���3��3��� �������8��� �9�������� ������<���� ��� ���C3�� ���
������ ��� ������� � ������� ��� ���� ����H������ ���������:������ ;� �� ���39��
������8�C3���������6���9�����9��������� ��:�������9��3�9���8���������8��B
����<����� �����������8���� ���3<��������� �� ��8�����������8���� ������<����%

��� ��� "�E<���� $%,�83�9��� �4��������� ���� ��8����������� 9�� 8�������� 9��
��9��3��� 9�� ���� <����� ��������9���� ������9���� 8���� �<������ 9��3��� ������
�9����<�����:�� ����������� �� �C3������ �3������C3�� ������ ���� 6��� 9�������%� ��B
������� 9��������C3�� 9������ 9�� ��� �������� <���� �8������� 3�� ������� �������
9�� 8��4������ �3����� ����3��9���4E���������� �� ��� �������<�����:�� 9�� ����
����������� ������ ��� � ���3��3��� ;� ��� ��4������ ���������:������ 9�� ��9��
C3�� ��� ���������� ���� ��� ������9��� ������� ����� 3��� 9��4���� ������ 9��8��B
�����:�� ����� � ���3��3���;������9�������8�������:��� ������8�����������9�����B
�������������4������������  �E<���%
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������ ��� ��� �H8��������� 6���:����� ����� ��� ��� �H8��������� ��������� ��� 6���
8�9�9�� �9 �� ��<��� �� ��� �3���� ��3������ <3���� �� � � ��� � ��� � ����� ��� �� �
� ��8��3����� ;� ��� ������������ ����:�����  ��4��%� ��8����������� ��� 6��
8�9�9��9���������3���8�������� ������:�� ������ ��� �����9��������������9�� ���
� ���3��3���;���������9��������������9�������3����9�������������N�9����9��
C3�� 6���:���������� 8���� ���� 8������ 9���������9��� ��� ����� 9�� ������������
���� �������6����9�������8���������$�;�&�9���3� �����9��������������� ������N�
��������������8��������8���������9���������� ����������8���6�� ��9��������$�;�
,� ��� ����97��9��� ���������-$%

J�� ���39��� ������7������ ���3������ C3�� ��� 9�<��������� ������ ��� �����B
������� � �������;� ���� ������� ����9�� �� ��������������8����������9�� ����B
���� 8��� �E8���� 9�� ���� -%*++� 9:�����%� =3��9�� 3�� 8���� �� ��� ������ ������ 9��
������������ � �������� ��� ��8��4�4��� C3�� <������� ��� ��� ������������ ��93�B
������ ;� ��� ������ ����8�� ��� 9�� ��8����� C3�� 3��� ����� ����� 9�� ������������
� ������� �������� ��� ������������ 9��� �� ����� 8��� �E8���%� ���������� 83�9��
��8������� C3�� ������ ������ 9�� ������������ 9��� 8��93���� � �������  �������
3����E8�9����93���:����� �3��8�����������������������8��93���� ��4��� ������B
��� �E8�9�������;���� ������������3���4���� �����9��������������9�� ��� � ���3�B
�3��� ����9�� �� ������� ����8������� ���������� ;�8��� ��� ������ �� 9���������� �����B
������� 9�� ���� ��������� ��93��������-,%

)������H�:�� ������ ������������ � �������;�������������  ��4������8����3B
83�����3��6��6��C3�� �����������6������8��F���� ������������������ ������B
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�3��� ;� �3� 9�������:�� ��8���E���� 9���9���������� �3���%

1����������� 9��9�� ��� 83���� 9�� ������ 9�� ���� ��8����������� 9�� 8��������
C3�� ���9��8���9��� 9�� ���� ����������������9��� 9���������� � ������� ���3�������
9�� ��� 4���9���9�9�� 6�4�E� C3�� ��D����� 9��� ���������������� C3�� ��� �3� ��B
������ �3������� �����9���4��� �������9������ ��� ���� 9���3������� ��4��� ���
8�������� � ������%� !��3�� ��9������ 8��8�����:�� ����3��3��������9��C3����� �<��B
���� �������������������������� �9����������� ��8��F��O������������8��F������B
8����������3��9�� �����<����� ��� ����3���� ;���� �� ����8��93����� ��9���93����P�
;���� �<������:�� 9��C3�� ��� 8�4��F�� ��� ������� 8�����8�������� ��� ��� ���8���
����� ������3������9��3�� �H�����9�� ����� 9�� �4��� ��� ����E����� �3�����%
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)�� ��3���8�����8���9�� ����� �������������������� �� ������� ����3��3����������
�����������9�� ���������9�� ��� �������� ���������������3��� 	���������9�� 3�F5

��� � ����� �� 9�� �� � � � ��� � ��� ���� ��� ��F�� 8� ����� �� �H���� � � �� �9 � �� ����<3�9�� � ; ����
� �� �<3�9��N� �� 4��� � � � �8 ��� � � �� � ��� � ��� �H8 �� ��: � � 9�� ��� �<� ��� � � ���� ��� ; �
�� � ���� ��� �4�� ���: � �9 � �<3��F�� 9�� ���4���%� � � � � �� ���� �9��� �� ��<3�9�� �� �� � � �� � �
��� 4�� � �� 8 � ��� � �� �C3 �� ��� �����F�� ��� � � � � � �F� ������ ������� � ���� ����� � � � � �� �
�3��� ��� 9��8��F�� � � � � �9 � � �4�� � ; � �� � �<���� � � 3 ; �8��� � ��� 8��93���� �9�9� 9��
��� ��� ���N� 8��� ��� � ��� �<� ��� � � ���� �� � �� ��E�����%� � � � ���� � �� �<3�9�� ��� 8 � �� � ��� �
��9 � �� � � � 6 �; � ��8 �� �9�9� 8���� 6 � � � �� �� � � � � � �� � � � � �� �� � �:  �� � ��� 8� �C3�� �����
<����� ��9��� � � � � �8 � � �� �� ��� ��� � ; � � �8 ��� �N� ���� �� � �� � �� �� � � � � � �� � � � � � �7�� ��� ��
�39�� � � �� ��� � �� C3 �� 8 �� � � � � � � �� � 4�7� � ��� �<���� � �� �9 �M%

��� ���9�����C3�� ��� ����:�� ����3��3�������� 9�� �<����� �� �9�� ��� ��<����� ���
��� �� 8��F�%� )�� 8��93���:�� � ������� ��� 83�9�� �3�������9�� <����� �����B
�3�� 8��C3�� ��� 6�;� 3��9���������� ������: ����C3�� ������ ��� 8��93�����9�9�
9�� ��� �������9�� ������� ������3��O��� ���������8��F����� �<����� � ������� �� �9��
�� ��<���� C3�� ���� 3��� ������� ��� 9�� ���3����� 9�9��� ��� ������ 9�� 8��93�B
��:�� 83�9�� �3������� �3;� 8���PN� ��� �� 3������ ����3��3�������� 9�� �<�����
�� �9�� ��� �E��9�� ��� ��� �<����� �H������ ������������� ������: ����� �� ������3B
����������6����9�����9�� ������%��:��� �������8���4�������� 3������C3��������B
����� 9�� ��������� ���������F�9�� 8��� ��� 4���9���9�9� ����<3�9��(����<3�(�
9��� ����3�� �4��E�3��� ��� ���9���������� � ������%

?��� ������ ��� ���<��9�� 9�� ����� 9���3��:�� �34;���� ��� 8��8�����:�� ��������
����3��3��������9��C3����� ��� ����<3�9��� ��� ��� ����<3�9���������8��9���������
����D��� :8������ 8���� ��� 9���������� ������: ���%� ��4��� ����3��3���� 9��
8��8��9�9� ���� ��������:������ �� ���<��������� ��� �7������� 9��E������� ���
C3�� ������ ����� ��8������:�� C3�� ��� �4������� �E�� ��8�������� ;� 9��������
8���� ���8�������� � ������� ��� ���4���� ��� ��������9�� ��������%� )�� ��9����F�B
��:�� ������: ���� �H� �� ���4������� �������� 9�� ����������8��� ���C3�� ���������
����8��83������9�� ����3����8�� ������9�� ��<����� � ������� �9��E�� 9��C3��
��� 8�4��F�� �3���� ��� ����������� �� ��9�9��C3�� �3�������� ��� 8��93�����9�9�
� ������%

)���8��8����������C3�� ���4���9�� ���3������6���9�9�� ��� ��� �� ��� ���
9�4����� ��4��� ��� 8����������� ����:����� 9�� ��� 9�����43��:�� 9�� ��� ������� ��
��4��� ������ ������������� ������ ����� �3������� ��� ��8���9�9� 9�� �4�����:��
9��<3��F��9�� ���4���� ��� ���� ���������3�4����� ;�����:��� ��� ����E����� ��93�B
�������N� ��� ���������� 83��� �6��9��� ��� ���� 9���3������� �E�� ���������� ��4��

-0� 	 ������� ��9�� 3�F�� #�� ����$�� ���� ����������� � �� ��� .���� � �� ��� 22�� �9�������� @7H�����
-.0+��8E %�.-%
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���� 8��4������ 9�� ����D�� :8����� 9�� ���� �H8����������� � �������� ;� ��� ���
����� 9�� ��� 8�4��F�� ����� ���3���9�� 9�� ���6����� ����9�9� ����3��3���%� ����
939�� �34;������� �� ������ 9��� ������� ���E� ��� ���8����������� 8��3����� 9��
���� ���������� ���8������� ����������������9�� ��� ��;����� 9�� ����8������ ����B
������������� ��� ����C3�� 6��� �� ��9�� ��� �� 3���� ������ 7H����� �����9���B
4���� ��� �3�  ����:�� ����:����%

� � � �1�=���=��� ?�	!J=��#�� T� �)� ��@�d	� !�� )	�� ?��!�	��

)���������9��9���3��:�

)�� ��<�3������ 9�� ��� ����3��3��� � ������ ��4��� ��� 8��93�����9�9� � �������� ���
���4��� �7������ ;� ��� ��8���� ��� ���� 8������ ��� 9�����������8��������� �����
3�� ��8����� 9�� �����9���4��� ������������%� �� 8����� 9�� ���� ���3�������� ��B
<3��F���9�� ���� �� �������� ����������������8���� ��� ��<����� � ���������� ���B
��������:�� 9�� ��� ������� 8��������� 9�� ������� ������� ;� ���� ������������
9�� ��<����� � ������ ��� ��� ��;����� 9�� ���� 8������ ���E�� 6�;� ����43�9��-[%�
J��� ��F:�� ��8�������� 8���� ���� �������� 8�� ������� ��� ��� �8�������8����8B
��:��9�� �3�6��� 9�� ����8����<���9����� ����:������ ��4���C3�� ���9����������
� �������9�8��9��8�����8��������9�������H8�������������9������;�9�� ����
����D�� ;�C3�� ��� ������� 9�� 8�C3�D�� 8��8��9�9� ��� ������9�� �� ���<���������
8������C3��9�4������E������4�������������9��3���8���������������;����9��3���
8�������� 8��93�����%� )��� ���39������9�� ��� ����3��3��� � ������� ���� ��4�� ���
6��� ����8���9�� ���9������ ��8������ ��� ��� 9������:�� ���������� ���8����� 9��
��� ��8���9�9� 9�� ���� 8��9���� 8�C3�D��� 8���� �������� ��� �<���������� �3��9��
���8��93���� ���� ���9��������9�� ������� �� ��� ������� ��%

�9���������C3������ ������� ���� ��9������ ��� ����6��� 7����� ��� �3��
�<������ ��4��� ��� ����3��3��� � �����%� )��� ��������9�� ��� ������� ��� ���E�����
�3����� �������8�D�9���9�� ����������9�� �������� ���C3��  ������3�� �6�����
��������<3��F��9���9����������:��;�������3���9����������9���4��%�����4����
C3�����9����������9����� ������� ��� ���E����� 6�� ����������9�� ��� �<���������
��������� 9�� ���� 8��9����  ���9��� O���� ����� 8��9������ @��H� ;� )����P%� ���
���4�������������� ���4���: �������E� �����������������8���9��������3����
9�����4����� ������� ����� ���� ��������� ������9��� ;� ���� <������F������ ;� ��C3�����
9��9����������9�� �9����������:�� �38��������� ���������� ������ �����%� �3� �<��B
���� ����������� � ��� ��� ����������� 9�� ��� �<��������� ��������� ��� ���� 8�C3�D��

-.� J��� 9���3��:�� ��������� ��� � ���S�� ��� L����� ! ��� �� ��� U��3�� ; � 1�9��� " ���6��%�
G� ��� ��� � � ��9��8��93���:�� � ��������8�9����9��������������� �3�������� ���; ���<��� ��
�  �� ���G����8��93��9�� ��� � � 	 � � ! �������H����� ��� ���� ����	��	�� � � ��� .-$(.-,�� �� ��E��
��������; ��3��������� �������9��-..*%
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8��9���� <���������� ;� ��� 8������:�� 9�� 3��� 9�����43��:�� 3����9��� 9�� ����
8��9���� 8��� ����D��� ��9������ ��� <�� �������:�� 9�� ��� 8��8��9�9%

)��� 9����� 9��8���4���� ��9����� C3�� ��� ����D�� 9��� 8��9��� ��� 6�� ��9��
3��� <3����� ���������:�� 8���� ��� �9�8��:�� 9�� ��� ������� ��� ) � � O�����9�9���
��9������ 9�� ����� ���9�������P� ��� ���������� 9�� ���� 8����������� ����3�(�
�3��������%�?����383������6�;��� 3���������� ���C3������8�C3�D���� ���3���B
���� ��� 6��� C3�9�9�� �����9���4�������� ���E�� 9�� ����  ���9��� � ���3�������
��� ��� �9�8��:�� 9�� ����� ������� ��%� ?��� ����� 8������ 3��  ���� ����3���� 9��
9����� �3 ����� C3�� ���� 8�C3�D��� � ���3������� 3����F��� ��� ������� 9��8���4���
���� ��;��� �<��������� C3�� ����  ���9��� � ���3������N� ���� 8�C3�D��� � ���3�B
������ �8������ ��;����� �������� 9�� �����9�� �4���� ��� 8�����3���� ��� ����� 9��
�4���<���������;�8������ ������ ������� �E�� ���9��8���3��9�9�9�� �������C3��
����8��9���� ���9��%�=��� ��9��6�;� ��9�����C3���� �� �� �����7�9���� ���78��B
��� ������� 9�� ��� �<��������� 9�� ���� 8��9���� 8�C3�D��%� J��� ��F:�� 83�9�� ����
C3�� �� ��9�9�� C3�� 3�� 8���� ��� 9���������� ;� ��� ������ 9�� �8���3��9�9� 9�� ���
����� 9�� �4��� ��� ������� ����9�� �� 9���8������� ��� 8�����3���� �������� 9�� ����
8��9����8�C3�D��� ��� ��� �������� �� ��� �<��������%� ��� ���3�������������C3�����
������� �� ���� 8��9����  ���9��� ���� 3��� ��������� ��������� ���������� 9���B
������9��� 8���� ����� 9�<�������� ������9�� �� 3�� �����3�������� �����9�� ������
9���8���3��9�9� ��������������� ��� ��� ��;�����9�������������������9������B
���� 9��9�� ��������� �3������9�� ��� ����D�� �4���3��� 9�� ��� <3��F�� 9�� ���B
4���� � ������%� #���������� ��4��� ����� ����� ���� ���������8���� ��� �H����� 9��
��� ����3��3��� � �����%

?�������� 8������ ��� ���9������ ���8����6�� �8�;�9�� ��� 8����8��:��8�83B
���� 9�� C3�� ��� ������� ��� 9�� ��� �����3��:�� ���9�� �����3��� ��� �����93���:��
9�� ��C3�������C3��9��8��F�� ��� �����9�� �4��N�  ���� 8�����9��� ������������
9���3���9�� �����������8�������8����83�9������43������� ����9������������������
8������9�����8�����8�����9���� ���������������������9�����4�����4�����3�9���
;� ���� ��79����� �������������� ���� �9��� 8��� ����  �4������� ����������� ;� ����
� ������� 8������������ ���������������%

1����������3����H����������D��9�����4�4��� ��<��������F�9��8���R�������
������6���<�����9������ �D��� �������� ��9����C3����� �����93���:��9�� ��� �����B
�� ��� 9�� ��� �����3��:�� ���9�� ��� ���� ��������� ���9���������� 9�� ��� 8��93�B
��:��� ��� ��� ����� 9��� ����F�  ��������� 8��� ��� ������  ���9��� ������������
��� ���3�����3���9�������9���4���8���3��9�9�9��E���� �3�����9���;���� �� 3B
���� ������3��� ��;��� �������9�9�9��� �3�����$+%� )��� ������������9���3���9��
�����9���4���� ������9��� ���� ��� �����3��:�� ���9��� ��� �����F����� �����39��
�� 8����� 9��� ����3������� 8�� ����� 9�� ��� ������F���:�%� ���� ��4�� ��� ��B

$+� ������6� L%� R�������� �� ���%����� �� � � ���������%� ������� ��� ������ � ����	��	�� � �3����
T��Q��?��� ��?34���6����� -.''%
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�������������39�����3�������C3�����8������8���:��9����� �����9���4��� ��� ���
�� ����� 9�����3;:�� ��������� C3�� ��� 8������8���:�� 9�� ��� ������� �3����:�
93������ ��� 8����9�� 9�� ��� 9�<3��:�� 9�� ��� ������� ��� ���9�%� �9��E�� ��� ���B
���� ��� ) � � ;� ��� �3������ 9��� �� ����� � ������� 8����������� 9�� ���� �9�8B
��:�� 6��� ����9�� �8���3��9�9��� 9�� ��8���� ��� ��� ������� ��� � ������� 8���
��9���9��� �3������9�� ���9����9��9��4������;����������� ��� � ��������8���
8����� 9��� ������� � ������� <����������9�� ���� ���� �������� ������ ���8��93���:��
9��4������ � �������� ;� ��� 8��93���:��9�� ���3���%

����������������	���!����	���

)��� �����9���������� 9�� ��� �����:�� ��������� �3 ������ C3��4���� �������� ���B
9�������� 9�� ������� �� ���� ���3����� ��� 8�C3�D�� 8��8��9�9� 839����� ���� �E��
<�����4��� ��� ������������ 9�� ��� 8��93���:�� � ������� C3�� 3��� ����3��3���
4���9�� ��� ��� �����������:�� 9�� ������� ��� 8����� ������ ;� ��� 3��� ��93��9��
7����� �3���%� ����� 8��8�����:�� 6�� ��9�� ���<����9�� 8��� ������� ���39���� C3��
6��� ��������9�� 3��� ���������:�� �� ������ ������ ��� ����D�� 9�� ��� �H8����B
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9�������������� ����� ���9���<���������E������ ����������� �� � ����8������ ��� �������F�9��
�������O���E�����P����� ���� �8�����������43�9������9����������O�������� ��������P%�?���
������ �������������� ������8������������� ����8��93����9�����9���9�������<��� ��� ��B
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9����������9���4��N������9����������������:�������3�������������B
��� C3��8���� �� �����9�� ���� � ���3������� ���  ���� ������� ;� ��8�����B
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<��������������������������� ��� ��������4����� ���������C3�����8������
������� 9�� �38������:�� 9�� ���4����� ��� 8�������� 3��� ������:�� ��� <��B
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C3��3���9�����43��:���E��� 3���������9�������������3������������4���B
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�8����� ����F�� ���������3������� ��� ��� �����9��9�� ��� �H��������� 9��3��� ����B
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97��9���8���9������6��� ��9�� ��8�����9�� ������������ �����9���4���8�4��F��
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�E�� ���� ���� 8���9:������ ������3������� 9�� ��� ��;��� �����3��:�� 4���: ����
��� ��� 8��93���:��9�� ����������� ������9�� ����� ��� �����3��:�� ���9�%�T�� ���
6��� ��D���9�� ���� �����9�������������������9�� ���� ���������� ��4��� ��� ������:��
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4��F�� �3���%� =��� ��9��� �E�� ���E� 9��� 9�4���� ��4��� ���� ������3������� 9�� ���
�����3��:�����9���������� ���:��9�����8�4��F����C3�����9��3���������������
��;��� ������� 9�� ���� ��3���� ������������ ���8������ C3�� ��� 9���������%�
)�� �9����<�����:�� ��8������ 9�� ������ ��3���� ��� 3�� ����� <����9�4��� C3��
�����3���� �3�6��� 9�� ���� 9����������� 9�� ��� 8�4��F��� ��4��� ��9�� ��� ����B
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����9�9���4E������ 9�� ���� E����� �3�����%� ��� 6�� ������ 9�����3�9�� ��� �������B
9�9� ��<������� ���6��������9�� ��� ��8����F��9����9�� ;���� ��<�4���F���:��9�����
8�4����:�� �93����� ������ ������ ���3���9��� 8��������%� ���� ��4�� ��� ��� ��<���
�4���3��� 9�� 8�4��F�� �3���� ��� 6�� 9�����3�9�%� ��� �3�6��� 8������ ��� 9��B
� 3��9�9� 9�� �� ������8������6�4��� ��8����9�� ��8��� ��� ������8������B
��9�����������������9�������D�����������;��������9������9�����8�4��F���� 3��
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?���� �3�6��� ����������� ��� 8�����8��� ��3��� 9�� ��� 8�4��F�� �3���� ��� ����
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9�9� ��� ���3��� 9��7����� 8������ ��;���8����� 9�� ��� 8�4����:�� �3���%� )��<�� B
�������:�� 9�� ���8��8��9�9��3����8��� ����� 8������ �� 3�� ����9��3��8������
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����������C3���������� ���93�������9����� ����3��3���� ������;�8����383������
�H8����� ��� ����8���9�9� 9��� ������ 9�� ��� ��������� 9�� �<������ �3<���������
�8���3��9�9���9�� ���4���� ��� ������ ������9�9����8����8�������� ��� �4�����:��
9�� ����� �H��9�����9�������9�� �4��� �3����� �4�����:��C3�� ����939��6�� ��9��
��� 8�����8��� <������C3�� �;39:� �� �������� ��� 8�4��F�� ;� ��� 6�F�� 9�����3��� ���
3��� 8�����9��� ������� � ������%

)��9��8���4���9�9�9��<3���������� ��������9���� ���������4�7�������3�����
��� ��� 9����������:�� 9��� ������ 9�� �� ������ <���������%� ��� ���� 3��9�9���
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�9��E��9��C3������ �����9��� ��4�������3�4�����;��3���������6������� ��9��
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-,� ?���������� ���9��������������9����������4��������<��� ���:�����8���� �9����E��3���9������
��������9�9���9�����9�� ��9��; �����<3��������9��9�� ��9��8����������� �,��������� ���8%�!�%
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�3����������8���������������8���������E������9�����8��93���:�������8����
���8�������� 9��8������%� L�;�C3�� ��������� ���C3�� ���� ��8�������� ����� ��� ��B
���� �4���3��� 9�� ���� 8������� � ��������� ��� ��� ����3��3��� 9��� ����3���� 9�� ����
8������� ;� ���� ����3��3����C3�� ��� �H8����� ���3�� ����3���� 9��8������� ������B
����� ��� ���C3����� �� ��������3��� ��<�3������ ���������� ��4��� ��� ����3��3���9��
���8��93���:�����4����������4����������3���9��� �3��������<��� ��� ���� ���9��B
�����9�� ��� �<������ ����C3�����C3��3���43����8����� 9�� ���� �3������� ����<EB
��������� �3����3�4���� ������ ��� ;�83�9��� ���8�����8��� ��� �3���� �� ��� �����
���� 8������� ���������� 9�� 3�� 8��93���%� ���4�7�� ���� ����������� ���� 8�������
�������9�� ����8��93����� � ��������� ���9���������8�9���9�� ���8���9�� ����8��B
����� ����������C3�� ����4��� ���� � ���3������� ��� �7������� 9�� ������ 8��93�B
���� �� ����3����� 9�� 8��93����%� 1����������� ���� �7������� 9�� ��������4��-/�
��������������������3������ 3�����������������������9���������������������H��B
�����������������������������9������8�������9������9������������������O��������
�3����� ��� � ���3��3��� �����F�� �������������P�;� ����8������� � �������%� ��� �����
�����:�� ���� ��38������� ��� 8������ �3 ���9�� ���� ���������������� 9�� ��� <3�B
9:��9�� �<����� � ��������9��� ���8����������� 9�� ���� ������99�9��� 9�� ������
;� 9�� ��� �� 8��F�� ������ 9�� ���� 8��93����� ��9���93����� ����� 9�� ��� 8��(�
93�9:�� � ������� � �� �9��� ���C3��� ����� ������E�� ���3���� ����������8���� ���
9�<���9:�� 9�� ���� 8��������� 9�� ���� 8������� ;� <���������� 9�� ���� 8��4������
���9�9������������9�����9�9�; �������8�����������9������8��93�������4����
�������93�4���%
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��� ��D��:��E�����E��C3����������� ����: ���� ��� ���C3�����8��93�������� �3�B
������ ���9�9���� ���  ���� ��9�9�� ��� ����9:�� 9�� �3������� 8��� ��� � ���3������
�����7�������3����F�9���8�����3������������������9������������3��������;��3E�B
��� ��� ������ 9��8���4��� 8���� ��� ������ 3��� ��F� �����<��6�� ��� �3������3��%�
=�9��3��9�9�8��93������ ��� ���9�����<����� 3�� ������ ����: ���� �����%� ���
� ���3����� C3�� ��� ���3������ ��� 3��� �� �:�� 9�� ������ ;� �3���� �9��3�9���
83�9�� 9��8�����9�� 3��  ���� ��� ��� 9�� ����9:�� ���8����� 9�� ���� �3������N

-/� ����� ���3�� ��� ��8���C3����� 9�<����8� ����� �� ���� ��� �� ���� ��� ��9����9��8�������9�� ���
8��93���:�� � ������� ; ������ ��9����9��8��������� ����8��9��� �����4������; �����������
8��93��9������������������9�������������%��������8��9����9���9��������3����9��3����9�9�
8���� �8���������� ��� ��9��9�� ���� ����<����9���9���� ������ �� ���� ��������� ��� ���9���
8��� � ��9��� 3��� ������ ������ 9�� ����8����� �� 9�� �3�� ���8��������8��93�������� ;�C3��
������C3����������������������:��9�������������������%�����9�������������C3����� �������
8������� � �8����� ��� ���9��� ��� ��8������%
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8��� ��� ����������� �� 3���� 8��93������� �8����� ��� ���9�������� � �����(�
�E9���� ��8���<����� 8���� �������� �3������� ;� ���������� 8�9�E�� ���� ��� ��B
���� 9��� �� ����� �3������%� !��� ������ ��9��� ��� ����D�� 9�� ���  ������ 83�9��
���4�7�������������������:��9������ ���������8��93��������������������9��8�B
��4���9�9�9�� �����9�� �4���83�9�� �������3���3��� ���������:���� ���� ���4����
8���4���� ��� ���8���:�� 9�� ���8��93���:�%

?��� ����� 8������ ��� ��8����� ��� ������9�9��� � �������� 8�������� ��������
��<��H�4���9�9�������3����� �� �3�3��N� 3�����F�C3�������8�����������8�������
���3������3����9��8�������;��8�������������3��9��������9��8�������8��B
93������� 83�9�� ���3������� ��8���4��� ��� 8��93����� ��� ���4��� 9�� 8�������
�3�C3�� ��� �����4���9�9�9�� ����� 8��93���� 8�����3����9�����3;�� �� ��� ����B
��������8����������������%�?�������������3�6������������� �����������6�����3B
���9���� ������4�����:��9��������9�9����8����������������<��H�4���9�9� ������9��
���8��93���:��C3��83�9�� ���3�����9�� ���3����F���:��9�� ��� �������;� ��� ��8�����
<���� ��� 3�� ����� 8��93���%� =3��9�� ����� ��3����� ���9������ 3��� ��F� ���8��B
����9�� ��� 3��� ������ 9�� 8��93���:��� ��� � ���3����� ����9�� �� ���������� �3�
8��93���:�%� =3��9�� ���8������4����� ��� ���83����� �8������������ 8��������
9�� �3�6��� 8��93����� � �������� <������ �� ���8������������ �9������� 9���
8�������3� ��������������E��E���9���������8��8:�����9������3����9���<������
9�� ���� ��<��H�4���9�9��� 9��� ��8����� <���%

��� �����9�9�� ����� "����� ��6����� 83��� 9�� ����<������ 6���� �3�6���
�D���� ��� ��8����� �E�� 9���3�9�9�� ��� ���� ��E������ ��4��� ��� �3���� 9�� �<�����
� �� �9��9������ ���3��3�����������������9��������������<����-*%������������9�����
� ���3��3��� ��� �H�����9������� ��8�������� C3�� ��� ������ 9�� ��E������ 9��
����8��4������ 9�� �<����� 83�9��� 9���������� �3E���� �������� ���� <����� ;� ���
C37� ������ ���� <����-&%� ��� ��E������ �����E����� ��� �<����� 6�� 9���������9�� 3��
�3��8��9�� �������8���� ���������� ������� �����3�� �������<���� ������� ��93�������
� ��������9��8��93���� �����������3����9���8���������8��������8��4������
8���� ��� �8������:��9��� ������ 9�� �8���3��9�9� �3��9�� ��� �����9����� ���� ��B
93������� 9�� 8��93���� �����8��N� �����9���������� ����� ������ ������� �4��B
�3��� �����������������������9���������� ������ ���8�����9����� ���83����� ������
8������������������ ������� ����8�������9��������9������8��93�������9���93��B
������ �����9���9��-'%
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��� ��� � ���3��3��� ��� 9����� 3��� ���� 8��93����� 9�� 8����9�� ������ O�3�������
������������P� ;����� �3�������8����������N� ���9������ �� 3����8��93����� � ��B
������ ��93���� ��� 3�� ����8�� �������������� ������ ;� 8��� ��� ������ �3� ���B
83��������������4����9��8�����������3;�9�<�������9�����9�������3�������8��B
���������9����������93����:�%��� 3����9������8��93�����9��8����9��������
�� 3��� 3�� ����������� �������������������� �������� �� ��� ��� �� 9��� ����8�%�
��� ���� 78����� 9�� �����6�� ��� ������� C3�� ��� �����9�� ���7� ���3��9�� ;� ���
������3������ C3�� ���� � ���3������� 9�����3;��� O�� 8������� 9�����3��P� �3��
����4���%� �34���3���������� �3� �3���� 9�� �<����� ��9���93��� ��� 9��8��F��
��������� �� ��� �FC3���9��� ;���� ������ �3�����9����� 8������� �����7��� ���4�7��
���9��8��F��E��� ��� �FC3���9�� ����3���� ������9�� ����8��93���N� ��� ���9����9��
8�������������������� ���8������ �34��E�;� ����� ���E�����C3���4����9��� �����B
9�� �� 3�� 8������ ��;��� C3�� ��� ��� ������ ��� C3�� 9��8��F��E� 9�� �3���� ����
�3�����9���<�����6����� ���9����6�%�?�����3��9��9�����3;����� �<���������8�B
��4��� C3�� 8����� 9�� ��� 9����9�� C3�9�� �������<��6��� 9�� ��9�� C3�� 8�9����
6�4����� ���9�9�� 3��� �����9�9� ��;��� 9�� ���� 8��93���N� 3��� � 39�� ��F��
9���8������ �������3��E���� ��9�����:��9�� ����9����3���� ;� ����� ��93���E� �� �� 3B
���� �3�����9����� �� �3������� 9�� �3���� �3�� ����4���� ;� C3�FE� ��93���E� ��
�������3�����9������������������8��93���:��9������8��93���N������9�������8��B
93������� �� ��� ��;����� 9�� ������ ����������� 9�� ��� ������ ������� ���������
C3�� ��� 9����9�� �� 3�� ����9�� 4�������� ����E������� �3��9�� ��� 8������ 4�����
����8������9��8��93���:�� ��� ����� ��E�� ���<����� ������8��9������ ;� ��� ��B
���� ��� �������E�9�� �3���%� ����� ���3������ 9�� ���������������� ��� ������� ���
��� �����9�� �3�6���8��93����� � ��������C3�� �3�������3��� ���9������ �����B
���8����9���9��9����D��N� ��� �����9�����8�8�� ���=����4��� ��� ��8���%

��� ���� ���8����������� �������� 83�9��� 9����� ���� ��4�� �� 9��� ���3�B
������5�3��M��9����9��������D�M�����4�����������3�������3����9��9����9��;�
��� 9�� �<����� 9�4��� ������ �8��H���9������� ��� ������ ��������9�9%� ��� �����
������ ���� ������������� ����9�9��� 9��� 83���� 9�� �C3���4���� 83�9��� 8���������
��9�<���9�������� 8���� ��� ����� ��3���� ��� ���� 8������ 9���������9���� ��� 9�B
���9�� 9�� 8��93����� � �������� ��� �3;� ����E������� 3�� ������ 9�� �<����� 8��B
93������3��� ������D�� 9���� �����O����� ���C3�� �8������ ��� ��� "�E<���� /%-P� ;�
��� ��� �3�������8��93���������� ������� ���E��9��83������ �� �3��������3�8��B
93���:���E���E8�9�������C3����������3��9����� �� �3����������9����9�%�
����� ����������� �������� ���83�9�� ������3��� ��9�<���9��������8��� ���C3��
���8��93���:�� ��� �3������E� 6����� ��� 83���� ��� C3�� ��� 8������4���� �� ������
����� C3�� ��� ������ ������E� �� ������ ��� <��� �� 9�� ������D�� ����4��%� +,��� �
���3�9��%
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���3�� � ����9��9��3��� ������ �������������<3���:��9�� ��9�����!� Y � !�O8P�;����
9�� �<����� �� Y � �� O8P%� ��� ��� �C3���4���� ��� 8������9�4�� ���� ���� C3�� ! �O8P� Y � ��O8PN� �����
�H8����:�� ����9��3��8������9���C3���4���� ��!��6�� ��3���:��83�9��9����3 ������ �B
����� ���3������N� ;����� �� ����8��9������� ���8����;���� ���� �� ����8������� �H8����9���
8���2�����9�E��9�9���8��

G�Y � !�O�P� Y � ��O?P

��� �4���� ��3�� � �9����9��E����� �3��9��6�;� �����9��� �� ����9�� ��9�� �� ��� ���
�<����%� ���� �9�����E����� ������������������9�����E������8���8����9���� ������3�������B
9��<��� �9��3��8����9��� � ���� ��9��9������<����5

!�� Y � !O?�P�;� ��� Y � �O?�(�P

������ �3���� �3��9�����8��93���:��9���4������ � �3����:�� �H� ��3��8����9��9�B
���� ���9��� ��� �3��� ��� ��� �� 9�� � � ���39� � 3��� ��� 8����9�� 9�� �3������ ��E�����%� ���
<3���� � �� ��� �� � 9��� � �9���� ��� ��� �� �� 3�5� 9�9�� ?�(-� 9��� 8����9�� ���������� ���
�����9�9� �<����9�� ��� ��� � ����9�� �� � ���8����9�� �� ����� ��� ��� �O?�(�P��;�?��9�4�� ��B
���<����� ��� �<������ ��� 9������ ?�� ;� ���� ��� ��9�9��� � ��9�9��� ; � ���8��9��� 2�� � ��� �� �
9�9���8��

2�� Y � !O?�P� Y � �O?�(�P

!������� <��� ��8������9��9��3��8������ ��������?��� ���� ��3����� ���9���?-� ;�2 �N�
3�����F�������9��?-� 9��6�����3�������� ����8��� ���� ���� �����?$�; �2$��; ������3��B
����� ����%���� �������������3��������� �������9��?��� ��� �� �9�9���8���3�����3���:��
���9�<���������9��8��� ���� �9���O3�������9�P�9�����<��� �5

!� O?�P� Y � �O?�(�P

)�� ���3��:�� 83�9�� ��8����� ������  �E<���� �� ��� O"�E<���� /%--PN� !� ;� �� ���� ����
�3�����9��9�� ��9��;��<������;�����C3���4����O?�; �2P�������8��9�����83����9�������B
�����:� �_%�������� �9����9��E� �����!������ ���8�������� ����������������E������8������
��9��������<�����9��3��8����9��� � �<3���:��9���8������9���8����9����������%����8������
�������� ���?���; ����83����C3������� ����8��9��_�� ��4����� 9����� �� ����� �<����� �� � ���
8����9��-N� ����8������������ �� ���C3������� �<��������8������?-� 9�����83����_-� ��4���
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9���<�������� �� ��<��������8����8����<�����3��� ������:�� ����������<3�3���;�
<����� ���� ���9�������%

���9�<���������83�9��9�������C3���������9�����:��9��������9��� ��� �7�B
������ 9�� ���� ��D����� 9�� 8�������� �� ��� �3�8������ ��9������ ����� 8����9�B
�������5� -P� ���� ����������� 9�� ���� 8������� 9��� �����9�� C3�� ���93���� ��
��3��9��� ��8���E����� ������ ���� <3��F��� 9��� � ����9�� O����9�����:��
����:����� 8�����PN� $P� ��������� �9�������������� ������ ����� �����������
��3��9���� ������ O����9�����:�� ����:����� ������PN� ;� ,P� 8��� ��������� C3��
���4����� ���� 9��� ����������/-%

)�� <����� 9�� ����9�����:�� 9��� �����9�� 6���� C3�� 83�9��� 8�����������
8��4������ 9�� 9���4������������� �� 9����3����� 9�� 8������� ��� �� 3���� ��B
 ������ 9��� 8����� C3�� ��� 6�;�� ��4������� 9�� �����9���� C3�� ���� ������������
������������� 9�� 8������� ��� ��� ��� ������:�� ���� ���� ������� 9�� ��������B
�������� C3�� ���� 9�<��������� 9�� 8������� ������ 8��93������� ;� 9����������� ���
��<������ ���� ������� ;� ��� ������ � �� �9�� 8��� ��� �������9����:��� ��� <��� 3���
������9��9����3�����C3�� �3������� ���� ���<����������9��� �����9�� ;�C3��9���
�3 �����9���C3���4����������� ���3����� ;�������9�9���� ������ ������� ;�4���<�B
������ ���  ������� ��3���87�9�9��9�� �<��������� ;�4��������%

�6����4����� ���8�8���9�� ����9�����:��C3��9����8�D�� ��� �����9��� ���
��� ����3����9��� �������� �38����C3�� �C3���9�4�� �3�8����3��������� �������
9��<3�������� <������� C3�� ��� ���������� ��5� -P� ��� �����������:�� �� ���8��N� $P�
�����������:����8��8�����:��8�����������3��N� ,P� ���9�����43��:�%� !��6��6���
��� �<����� � ��8��3����� 8����������� 9��  ���� �������9�� 3��9�9��� 9��8��B
93���:�� 9��8������  �� �E<���������� ��C3����� 9�� 3��� �����������:�� C3��
��� ������� ���� ��� ���8��� 9��9�� ��� �����6��� ;� ��� �����������:�� 9�� 8��93�����
�����F�� �3� 83���� �EH���� ��� ���4���� ��;������� ��� ��� �3��� ��� �������� ����
9��������� 8������� 9�� ��� ��� ;� ��� 6��� ����F�� ��� 8��93���� 9��� �����9�%�
1����������� ��� ��� 9�����43��:�� ��� <��������� ;� ���9������� ��� 8��93���� 9��
��3��9�� ���� ���� ����������������9����� 9����9���C3�� ����� ��� �<�������� ���B
4�7�� 9��8����� ;� �����F�9�%

?���� ��� ��E������ 9�� ���� 8������� �3���� ���3������� ��� ��<�C3�� <3��������
9��� �����9��� ��� ���C3�� ���9�������� ���� �� 3������� ���������������5

/-� ?���� ������3����9���9��������9���9�����9�������������9��� ��9��9������9�����:��9���
� ����9��� 8� �� 8��93����� �� � 3�� 8���� ��� �� =����4��� ��� ���4���� � ���� �� 3�������
��9���9����5� �P� ��� ��8���39� 9�� ���8����:�� 9��� 8��93���� �� � ��� E�4���� � �������� ����
��� ��9�� �3�8����� ����:�N�4P����������9��9�����������9� �������������� ���� ����:��9��
���� <��� ��� �� � ��������N� �P� ���  ��9�� 9 � � � � �� �F���: � � 9�� ���� 8��93��� ���N� 9P� ����
<�����9�9���9�� ����8����� ��8������F�9�� C3�� �H�����N� �P� ���� ���������� 9�� ��<��� ���:��
9��8���4������3��8���3��9�9�; ���4���3����;�<P����9�<���������:��9��8��������� ��������
9��������� � ����9���9���8���%� +,��� �@��9�F��� ���� ���� �8E %�,/%
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-P� )��� <3�������� �<������ ���� ������� 9�� �����9��� ;� ���4�7�� ��� ������
� �� �9�� 9�� ���� 8��93������ ��� �3��� 83�9�� ��8��������� 8��8�����B
���� ��;����� �� ��������C3�� ��� ������ 9��8��93���:�� ���<����%

$P� �3�C3�� ���� <���3������ ��� 8���4��� ������������ �������9������� ���3�B
��� �3;�9�<���� ��������� ��� <3���:�� 9�� ����������F���:�%� )�� �������B
��:�� 9��� �������9������ ��8����� ��� �3��C3��������� ��� ����<��������9��
��� <3���:�� 9�� �����9��� ;� �3�� ������� �� �� 3���� �E��� 9�� ��9��C3��
�3�C3������ �������9�� ����3��:��9������<3��������9�������9���83�B
9��� ��93������� ����� ��� �� ��<����C3�������<3��������������������9���
��� ��� 8������� 9�� ����������F���:�%

,P� )��� <3�������� 9�� �����9��� 83�9��� ���� ����3��9��� 8��� �3��C3����
����� ;� ��� �3��C3����<����9��� �������� 9�� ����������F���:�N� ��9��� ����
<3�������� 83�9��� ���� ����3��9��� 8��� 3��� ����� ��8����� C3�� ���B
������ ���8������� ���������  ������;� �������3��9���<�������4����83�9��
���������F�9��8���<��������� ��������8������F�9���C3����� ��9�������
9�4��� ������:��������%

��� ����8���8�������� ��� ����������F���:�� �3�8���83��� �������<3�������5
�P� <3�������� 9�� ��������4���� ���8���� ������� 9����������:�� 9�� 8������N
4P� <3�������� <�������� ���8���� ���������������� ����<������:��� �����<�����:��
;� �������F���:��� ��8���9��� ����8����N� �P� <3�������� �3H�������� �� 9�� <���B
������:��� ��<������:�� 9��8������� ;� �����9��� <��������������� ���8����:�� ��
��3���:��9�� ���� ����8������:��9�� �����9���� 9�� ��9��C3�� �3��C3������B
����9�9� 9�� �����9��� �����E� ���8���9�9�� ��� �� 3��� 9�� ���� <3�9����� ��B
D���9��%

?��� ��� 9��E�� ��� �������3��� ��8�9���F�9�� ��4��� ��9�� 3��� 9�� ����<3�9�B
���� 9�� ��� �����9���F���:�� ��� �43�9����/$%
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��� 6��� ��D���9�� �E�� ���E�� ���� 8���98����� <�������� C3�� �<������ ���� ���<�B
 3���������9������<3��������9���<�����;�9����9��9������8��93������ ����B
����� ���� ����� ���� ���9�������� 9�� <����9:�� 9�� ���� 8��9���4���� 9�<��������
�383������9��9�<����9�9:��9�� ����8��93����� ;����<����� �� �383������9��
��8�9��;�����8�%� ���6��� �3 ���9�� �������������9��������� ��F�����C3���3�B
��<����� ���� ��������������� 9���  �4������ 8���� �������� ���� ������������ ����B
4���F��� ���� �� ������� �� ��93���� ��� �������93�4���� ������ ������ �4�������%
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��� �����9�9� ��� ��� ��;�����9�� ���� 8������ �H�����3�� ��8���� ��� ��9�� ��B
������������� 9�� 8�������� ��� ���� 8������� � �������%� =��� ��9��� ����C3�����
C3�� ����8��������8�����3��������� ���� 9�� ���� 8��93����� �������������� �������
3�� 8�8��� ��8�������� ��� ��� 9����������:�� 9�� ���� ��������� ;� ���  ������� ���
���� ���9��������9����9��9�� ���8�4����:���E��8�4���� �3� ���������4��������
3��� �����:�� ������ ��� 8���8������� ���������:����� 9�� ��� <������:�� 9�� ����
8������� O�� �3;�� ��� �� ���E�� ������������ ���� @����������� 9�� � ���3��3��P�
;� ��� ��8����� ���������:����� C3�� ��� ��<�������� 8��� ���� ������3������� 9��
9�������4���� ������ ���������������9�� �����9�� ����� ����8������%

����� �����:�� ��<����� 3��� �3����:�� ��������5� ��� ������� � ������ ;� ��� ��8�B
���������34�����������������������3���9�������E��M8�4�����M������7�������9��
������9�9��� ;�8�� ������9��8�������� ��� ��� ��;����� 9�� ����8������ ���9���B
��������8�����������������8�����3���9�������E��M8����9��M� ��� �7�������9��
��� ����� 9�� 9���������� �3���9������ ��� ��� 8��93���:��� �����9��� ;� ����3B
��N� ����� ��� �H8������9���� ��������8������ ���3����F�� 9�� ���� �����9��� ;�8���
���� ���3����4����9���������� ���������:������C3�� ����3�����;� ��� ����9�B
���� ��� ����� �����9��5
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�� � ����� � ���8�4�������� � ����:���� � ��� ����� ���:��� ����������<������3��3��������
; �9�� � � ���9� ������� � � �� � � � � � � �� ��� �� ��� � � � � 9�� � � � 3 � �� � � �� � � � �� � � ��4 ��� � ��
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8����� �%� ) ��� 8� ������ � �  34� �� � � � � �� �� � � ; � 9 � � �� � � �� �� � � � � 8 �4���� �� 9 � �� �B
� �� � � � �� � �<���� � ��� � ; � 9�� � � ��� � �9�� ��� � ���3 ��3�� � 9 �� 3� � 8���� �E�� C3�� � � �

�� ����3 � �C3�� �� � ��� � �������� 8 ��� � ��� � ��� � � ��� � 8 � � � ���� � � ��9 � � 8��93��� �� � �
��9 �� �93��� �� �� � � � � 9������ � � � � 9������� C3�� � � � �3 ��� � � �� ���� �<�� �� � � �� /,%

�H����� 83��� 3��� �����:�� �� ��<�������� ������ ��� ������9�9� 9�� ����� ���
��9�������������������������<������ ���������9�����������9���9�����������B
���� � ������ ;� ������������ ��� ���� 8������ ������ ;�8�4���� ;� ��� ������������� ;�
���� ��� ������9�9� 9�� 3����F��� ���� �����9��� ����� ��� ��6��3��� 8���� ��� ���
�<������������� �� ����8��93�������;�����3��9����� ��9���93����� ;�8����  �B
������3��<�3���9�� ��<������:�� ��4��� ���� ������� ;�4���<������ ��� ��� ������//%

/,� ��� � ���� ?����� =%�� #�� ���$����� ��� �������� %� ��� ���� ��$�� ���$����� � �� ���� � ������� � ���� ?�
���93���:�� 8���� � �� �3����M?��������� � ��������:� ����� ; � ������������ ;� ��� 9����������
� �����M��� ��F��-.0.��8E %�0%

//� ��� �������C3���3�6���8������ � �� ���� �� �8���������9��8������� � ��������C3�� ���9��B
��� �� ���� � ����������3��� �;������9� �� � �� �����: � �����8���������C3������ �� ���� �� ��
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O��� ���=�8��3��� *� ��� �����9����E�� ���� ���9�������� 9�� ��� ��������� 8��������
9�� ���� ��������������� ��� 8������P%

?��� �������� ��� ��E������9�� ��� 8�������� 9��8������� � �������� ���83�9��9�<�B
���� �� 8������ ���� ��������� ;� 9����������� 9�� 3��� ����������:�� 9�� 8������� ���
���� <:��3����8���� �3����<����� ����� ��������%� ���6��6�� ��� C3���8���� �� ��� �<�B
�������� ��� ��� ��� ����:�� 9�� ���3����� ����:������� 3��� ��������� 9�� ���B
��9�� ��� 83�9�� �����F��� �� 3���� ������ ��������� ��8��������� ��� ��������
� ������� ���� 3��� �3�9�9���� ����������:�� 9���  �4�����N� �� 3���� 9�� �����
������ ��� ����������� ������� �<��������� ����:������ ������ ����������� �� ���9��B
���43��:�� 9��� �� ������ ������ �� ��� ���3���:�� �3���������� ;� �� ��� �� 3��9�9�
������������ 9�� ��� �����9�9%

)��� <:��3���� 3�3����� 8���� �� ���� ������ ��� �7������� 9��� ����3���9��
���������� ���������� ��� 3����F��� ���� ��������������� 9���  �4������ ��� 8����
����<����� �� ����� 9������������ �� ���  ����� 8�4���� ����� 8���� �������� 8�������
� �������� ��8���������C3�� �<������ ���  ��9�� �� ��<�������� ���� �� ������ ���B
�����;��C3������ �4���������������E������������������8��F����4�������8�������
C3�� ��4��� ���� �� ������ ��9���93����%� ��� ������3������� �� ���3���9��� ������B
������� 9�� ��� 9�����43��:�� 9��� �� ����� ;� 9�� ���� 9�<��3���9��� 9�� ����  �38���
8�4����8���� ����9��� �� ���� ����������� �3�6���  �4������� ������� 9�� �����B
����4����� ����8�������9������ ����������� ���C3��8����383�����8������� �����B
�3������� ��8���������8���� ��� �� ����� �����9�� ���� � ���3������� ;� ���  �������
���8�����9��� ��������9�� ����������� ;�9�� ��D�����8���� ��� ��� ����:�� �<�����B
���9�� ���3����%

���� 939��� ���� ��������������� ��� 8������� � �������� 8�������� ��� 9������
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3��������9�9��E�������;�3���7 �� ������� ��������9������9�9��E�������9�%�)���3��B
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9�����3;��� ��� ���� �� ;� �����3�������� 839������ �������� ��� �������:��� ��
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83�9��� ������ 8��9���9�� ;� ���  ����9�� ��� �3�� �� ������ <�3������ 9�4�9�� ��
���� ������������ 9��� ���9�������� ;� ��� ���3����9�� 8��93���:�%� )���8�������
����4��������4����<�������������������3��9�����;�9�����3;���������� ������B
4�7�� 83�9��� 9������4���F��� ���� �� ������ ���� ������3������� 8���� ��� ��� ��
8��F�� ��� ��� 8��93���:�� � ������%� )��� 8������� ���4�7�� 83�9��� 3������ ����
�4�������� ��9�����43������� ����C3����� C3�� 3���� 8������� ��� ��F�� 83�9���
�3����������� �� ������ 9�� ����8��93������N� ���� ��4�� ��� ���� 3�� 8�� �����
9��8�������:������������3��9�����������8�������� ���9����� ����93��������� ��B
��� �����9�� ������� ����3;��9�� ���� ���4���9����� �3������ �E�� 8�4���%

�3�� �3��9�� ��� �7�������  ��������� ���� 8��������� 9�� 8������� 8�������G�
�4��������8���8��93������ ���� ���<������� ����3�3����� �� �������4���� ��� ��F:��
9��C3��������8���������8��93����3��������9�9�9�����8������ �<�����%� !��3��
��9��� ������ ����  �38��� �<����9��� O8��93�������� ����3��9����� ;�  �4�����P�
;��9�� ������ ��� ������:�� ���� ���� ���<������� ������ ��� ������ ;� ��� ��� ��8��F�%� ���
6��6�� ���������� ��� ��9�� ����� ��� C3�� ����8���������9�� ����������:�� 9�������
��� 8������� ��� 8������� ������ ��� ��8���9�9� 9�� ������� ���3����� 9��9�� ������
���������6��������� ���3��3����8��C3���������� ����:��9�����3�����������������
��������������������4���������8���������������������4������������ ������;�8��B
C3�������������9�� ������8��������� ��8����� �4�������� ������9���������C3�� �� ���
8������ ��� ��� ��<������O����� ��� ��D����� ���� 9����� 9�� ��������9�9� � �� �9�P�
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C3����������C3��<����������8��93������������� ���������9�����3�����;�C3��
8������  ������� ���E����8�������� ������ ��9����  ��4���9��9���������%�?���9:B
������������3�6���9������8������C3��6�����6����8�7���������8���������9���
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C3�� 839������ 9���������9�� 7�����<E��������� ���� ��3�����F�9��� ;� �E�� C3��
���8����9��� 8��� ���� ��� ��� 8������������ 9�� ���� 8���������  ��������� ;�
���������:������ ��8�������� ��� ��� ��9���� 9��9����������� ���� �3�����3�3��B
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8��������� ��4��� �� 3���� 8��93������ ����� ��� 8��93��� ��9������ �3����3���B
���� 9�� <�������� ���� �<������ � �;����� ��4��� ��� � �� �9�� ��� ��4��� ����
����<��������� 9�� ���3����� 6����� ��� ������%� ?���� C3�� ����� ������� ��3���� ���
��C3����� 3�� ��4������ ������E����� ����� <�����4��� ��� ������ ��� 8�������
�4���3���� ����� ���8��������������������� �3���9�8��9��9���4�������9�� ���B
8����������� ������ 8��������� ������������ ;� 8��������� ���������:�����%
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9�� ������� ���:��� ���%P�� �9�������9�� �����3�������� ������ �����9����������
���� ���� �<������ 9�� ��� ����� 9�� ���4��� ��4��� ��� ���8������� ��8����9�� 9��
������� �� ��4��� ���� �H8����������� � ��8��3�����%� ������ �����9���������� ����
����������� ;�8����383������3<����������3��9������34����������8�8���9������
8��������������������������8�����������9�����������9�9� � ��8��3������8����
���� 8������ 7����� ��� �����93���� ��� ��� ��E������� ��� �������4��� �����3����� ����
8��������� ���������:������ C3�� ���� �<������� ��� 8�����3���� ��� 8�������� ��B
��������O������������34��9��������%P���������������9�����4���;������34���3������
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��� �� ����3�� ��E�������8��H���9��9�� ���� �<������9�� ����8��������� �����B
����:������ ��4��� ��� � ���3��3��� �38���� ��� �:��� �����9����� ���� �<������ �HB
8�������� ���� �� ����� �� ����������� 9��������� ����� ���� ������������� 9�� 8�������
���������� ����8�������� ���������� �� ���4������� C3�� ��� �������� ��9�<����� ����
�����4���9�9��� ���������� ������ ��������� ���� ��8��������� �<������ 9�� ����� B
����:�� 9�� <�������� ;�C3�� ��9�<����� ��� ���8�����:�� 9���  ����� �������� ��B
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������8����4����;�4������9��7�������;���������������4����;������������4����
O��4������ ��������P� ���� ���� ����� 3������� �<������ ��4��� ��� ����3��3���9�� ���
8��93���:�%� ��� ������3������� ��� 8��93���� ��8������ ���9��� ����5� ��� 9�� ���
����� ��9:�� 9�� <�������� ������ ��������� ;� ��� �3����3��:�� ������ 8��93�����
9�����������C3�� ��������� �������9�� ��������� �<����� � �� �9������� �3� ���B
8�����:�%

���8������ �7������� ��� 8�������� �����9��� ���8����� ���� ����9�� ���� �����B
�� ���� 9�� ��93�������F�9:�� �8�;�9��� ��� �����9��� ��������� 9�� 8�������:��
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8���9:������ ��� � ���3��3�������9������ ��9�<����9����� ������:�� �����9�������B
���4��� ������ ��� � ���3��3��� ;� ��� ��93������ ���� ���� ��8����������� 9�� ���
����<�������� 9�� ���3����� 9��9�� �C37���� 6����� 7���%� =���� 3�� ���3���9��
�9�9������ ���� �H8����9����� � �������� ��� 8���39����� ��� ������C3�� ���� ��B
���3�������8���������9����8����9:�%� ����<����������8������� ����������9�� ����
4������ 8���� �9��� ���8����� 9�� ���� ��� 8���� �9��� O8��� ���  ������� 4������
� �������P� ��� �������� ���� ��� ����� 3������ ���9�� 9��� 8��93���� 8����9��� 9��
7����� ;� 9�� ���� �H8����9����� 8������������ 9�� ���� ��������� ��� 8���� �9����
���� ������� ���� ��� �<����� ��4��� ���� <�������� 8��93������� ��8����4���� ������
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!�� ����� 8������ ���� 8��������� 8��������������� ��� ���93���� �� ���39�� ���
3��� ��4�����3���:�� 9��� ��8�� 9�� ���4��� ������ 6�9��9�� ���� 8��93�����
� ��8��3������ �����9���F�9��� ������ �����4���� C3�� ���� ��� ����������F�B
9���O;�C3������4������ ��93��������� �����9���F�4����8���� �9��P�� ���C3�� ���B
��� ������3��9��� ���� �E�� �9�������8���� ���� �H8����������� � ��8��3������
9�� ���� 8������ ���9���������� ;� �����3��� ��� <�3��� 9�� ���3����� 6����� ������9�B
9��������9�4���-$%� ?����C3�FE�� ��� ��8����9:�� �E�� ���������� ���� ��� �<�����
C3�� ������ ���� 8��������� �����9����� ����� ��� 9��� ��8�� 9�� ���4��� O�������P�
������� ��4��� ��� ����� ����� 9�� ���4��� ;� ���� 8������� ���������� ������ 4������
�����9�4���� ;� ��� �����9�4���� ;� ������ 8��9��� 9��7������� ;� 8��9��� �HB
������� O�� �7�������9�� ��������4���P%�?���� �<������9�� ����� ��E������ ��� ����B
������ ������ ��� �3�����C3�� ��� ��� ��;�����9�� ����8������ ��� � ���3��3��� ������
3�� ��;��� ���8������� �����9���F�4��� C3�� ��� ������ 9�� ��� ���������� ���
������C3�� ��� ������� ��� � ������� ��� ���������F�� 8���3��� �����8��8��9:�� 9��
4������ �� ������9�9��� ��� �����9���F�4���%

���=����4����8�������8�����������8����������������9���F�4���������
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� � 3� �� �� �� 9������9� �� �� � U�3� ���� �%!%N� ��6�<<�� @%N� #��97��� �%�� M�  ���3��3����
�� � � � ��� � � � �� � 9 � � � ��8 ��  � � � 3 � �� �� �%� @ �� �3 ���  � �6 � � �<<� � �� � � � � � � �� � �� �� ��9�
������ ;S�9��8�������M��R���9����Q�� ������ ���! ����" ���8����4���-.00%
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��� ������9�� ��8��������� �E�� 9��� *+V� 9�� ��� ������9�9� ��� � ������N� 8��� �3�
8����� ��� �������� ����3;��9�� ��� ��<7�� C3�� ���� 8��93����� � �������� �H8����B
4���� �� ��8����4���� �������3;��� �E��9��� '+V� 9���8��93���� ����������� ����B
����� ��� ��������� ,+V� ���E� ���<����9�� 8��� 8��93����� ������������� 8���� ���
����3��� �������N� 9�� ��9�� C3�� ���� 8��93����� ����������F�4���� �������3B
;��� ����9�9��� 9��� *+V� 9���8��93���� � ������� ��� ��<�����%
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������������ ;� ���������:������ 83�9��� ��� 8����9��� ��<�3��� �E�� ��� ���
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4��%� �9������������� 8���� ��� ����� �����4������ 9�4�9�� �� ��� ��;��� 8������B
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8����������������������������������H8������������ ���������9�9��3���9����B
9���H����������9����� �<�������E���� ��<���������������4����F��9��8� ���C3��
3��� 8�������:�� ���8���4��� ���� �9�� �� ��� �3����3��:�� 9�� ��8�����������
��� ����� ������%� !�� 6��6��� ��� � ���3��3��� ��� 3�� ������� �H8����9��� ������ ���
����3;�� �� ��� ��� ��<7%� !�� ��9�� C3�� ��� �H��������� 9�� 3��� 8��8����:�� 9���
8��93���� ����������F�4��� ��� ��� � ���3��3��� ��;��� C3�� ��� ���� 9��E�� ���B
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��:�� 8��8�������� 3��� ��8�������� �3���<�����:�� 8���� 3����F��� ��� �������B
���9�� �����9�� ��� ��F�9�� ���� ��������������� ���������%
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��������� ��� ��<����� �� ���� ���9�������� 4���� ���� �3����� ��� �����9�� <����� ���
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���� ����:������8������8��N� ��� ������ ����3�������������<E�����9�������C3������
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�� ��86���� ���F����� � �� � ������6�O�9%P�� #��������$��������������S����� �O�%�<P%����4�7�����
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��� ��� ���������:��� ���� ����� ��� �3�8��������� ��������� 9��� ����8���� 9�� ����
�������9��9��������9�9���6�9��������8��9��%�����9C3��������4��������3��(



-. / � � � � � � �� � 	 � � �� � �� ���������
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p)����� 8��; ��  � <���9�� ��9� ������F� <������ 8�����4����� 9�� ���8 � �� �� �� � �� � ��������� �
� ���������� � � � ���M�� ������� ������� ��� ����%�$/�� �%�' �- . .&%
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6��6��9��C3������ �4�������<�������� �� ���39�������� ������3��:��9�� �����
�4��������8�9���� ���� �E��<�3���<���� ��� �383�����9��C3�� ����  �4������� �� ��B
���� ������� �4�������� �3;� 9�<�������� �� ���� 9�� �<��������� ;� ������3��:�� 9���
4��������%� ������� �<�������9������8���������8�4������9�4���3F ����� �� ��� �3F�9��
�4�������� ����:������ ;� ��������� ;� 9�� �4��������8��������� ;�43����E������%

��� �3����� ��4��� ���� 8��������� ������ ��������� ����� 3�� ��������� ��8��B
�����������E������9�����C3����������9�9�6��������� �4�������;�9��������F�����
��� ����:������8���� 6������%� !��6��6��� ��� ��� ��<�C3��6�4��3���9�� ����8�B
��������  34������������� ���E� ��8������� ��� �383����� 9�� C3�� ���  �4������ ���
6����� ��8���9��9��� ������9�� ��� �����9�9� ;�8����������9��7���%� ��� �4������
��� �����9����9����������9��;� ����8��������3��  3��9�E��9��������7��8�4��B
���;�9���4����������� ��9�8��9������9��������8����������9����������9�� �3B
8���9�� �����7�%

��� �8����� �4���� C3�� ������ 8���383������ ��� ���� ���������N� ���� <����� ���
� 3��� C3�� ���� ��9���� 9�� ��� 8��������  34����������� �3����� 9������������
��� ���� ��9�9��8�������<3������9���8�;��9��� �4������;� ���������������
8���������F�����9������ ���������������������9�� �����H8������;����� �7������N�9��
6��6�� ��� 8�������� ����:����� ���<���3��� 8���� 8��������9��������9�� ��8��
9���4��������8��������� ������������9�� ���E�����8�������� ��9�� ���� �38��� ����B
���� �� �����������%� ��� ����� ����3����������� ��� ���3����F�� 9�� ���� 8��������� 8�B
4������ ������ 3�� ����� �������9��8��������C3�� ��� 83�9�� ���� �����9�%

?��� ����� 8������ ��� ��;����� 9�� ���� �������9�������� 9�� 8�������� �������
9�� �����93���� ���4���� ��� ������� 9������ 9�� 3�� �������� ���������:�����
9�9�%� �:��� ��������������� ��� �3 ������ 8��� ����8����C3�� ��� �������� ���� ��B
���������9�� 8��8��9�9��C3�� ��� ��9�<�C3�� ��9���������� ���9�����43��:��9���
�� ������ C3�� ��� ������� ��� 8�����:�� ;� ��� �����3�� 9�� 3��  �38�� ��� ������:��
���� ����9�������� �38��%� ��������9�9������������� ��8��9��8���������������� ���
���8��9�� ����8�������������3��3�������;� ��� ��� ���9�� ��� ��������:��9�� ����<�B
����� 9�� �����9��� �3��������� 8��C3�� ������� 9�� 8��93���� ����<�����������
����3��3��������� ��� �������%� ����3���8�������9�<���������:��9��8������������
��<������� �3���4������������9�9���8���������8����C3������ �����9���<3�9�����
4���� ;�8��������� ����3��3�����%� #���������� ��4��� ����� 9�����9:�%

J���� 3�9�� ��8��9��9�<����9�9:�� ��� ��<������� ������� �����8���������%�
��� ����� �����9�� ���9���<����� ����8���������8�4������ ��� �����  ���9��� ���� �B
����5� ���� 6� ��:������� ���� ��������������� ;� ����9��9�����9:�%

/ � )�� �������3��� ��4��� ����� 8���8������� ; �3��9������9�� ��E������9�� ���� ��������� <����� ;�
9����� �� ������ 8��������� ;� 43����E������ 9�� ���� 8��������� 8�4������ 83�9�� ������ ���
@�����Q���%��#��������$�����$��������������	����'�� �)���8������������ ��8��������8���������
������ �3�� ������ ������9������9�����@��;����7�N��6���� ���� � � �=��39��� #������$����� �
�S������ �������������9���������������-..$%

*� ����F���#�� ���� ��������
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f� #��� ���$������ �����'������ � ���� �C3������C3�� ��<������ ���� �����9�9� ����
���������� 9��� 8��;�����8��������9��������� ��� ��9�� �������� ;� �HB
8������ <3�9������������� ���� ���������� 8��9���������� 9�� ��9��
�������� 6���:����N� ���� ���� �� �8��������� �� 8��������� 4E������ C3��
���������� ��9�� ��� ��8��������� ;� ��� ��;��� �����9�9� 9�� ���3����� ;�
��4��������3����� ����3;�9�<������� �����%� ����� ������ �����8�������8���
9�����8��������9�� ��������������F���:��9�� ��� ����������9�� ��� ��9��B
��F���:�� 9�� ��� ����3��3��� ����:������ �� ��� ����� 9�� ��� ��93�������F�B
��:�� <��F�9�� 93������ ��� 8����9�� 9�� 8�� 3����%

f� #������$������ ���������������� � ���� ����C3��� ����� �3� ���4��� �����9�����
����8��93����9������ �� �����������9���������������8�9��� �� ����3�����
���� ��������� �34��9���9���9�� ��� �����9�9��C3�� ���3�����9�� ������(�
���������� 9�E�� ��� ���%� ������ 8��� ����8��� ���� 8������ 9�� ���8�(�
������9�9�� ��� ��<����� � ������� ��� 8�������� ���������� � �������� ���%

f� #������$�����������������'�� � ���� ����C3������9��9�����<� 3���9�����8B
����:��6����� �������������9����8����:�N� ���� �E��3��9��� ���� ����8���B
������9�� �� �������:���C3���83����� ��� �������� �������� ;���� �������B
�������9�� ��� �� �����9�9� �������;�C3���� 3������������� ���  ����� ��B
����N� ��8���<��������� ���������������8��� ����8��� ��� ��� ����� �����4��B
�����������?���� ���������9�� ��6�4�������:�� ����� ��9�9�� ����9���9�9%

L�� ��9�� ���9�������� ��� �3�6��� �����9�����������<���������8���������8�4��B
���� ��� ����:������ ;� ���������� 9�<��������� C3�� ������� ����������� 8���� ����
��<�C3���9��9���������� �3���%�?����383������ ������ ��� ����:�����;���� �������
6�;����������3;�9�<�������9��9�<������8����3�� ������� ��8��9��8�� ������8����
��� 9���������� �3���� O��� ��� � 8��� ����8��P� ���4����� �4�������� ����:������
��� ��� �����9�� 9�� ��� 8������:�� 9�� ���3����� �� ���� 3��9�9��� 8��93�������� ���
��<������3��3��� ���%�� ���� �4�������������������������������C3�� �������C3��
�������� ��� �93����:��� ��� ���39� ���%

1����������� ��� �3���� ��39��� ��� ���E����� 9�� ���� 8��������� ��� <3���:�� 9��
�3� 8����9������� ��� 9����� ��� 6�4��� 9�� 8��������� 8�4������ ��9: ����� ��� ���
��9�9�� ���C3�� ���� ���4���9��� �� 8������9�� ���� ������9�9���� ���9�������� ;�
� ������ ��������%� =3��9�� 8��� ��� ���������� ���  ������� �� 8������9�� ������B
9�9���� ���9�������� ;� � ������ �H�������� ��� ����<����� ����� �H: ����%� ������
����8�������8�����9��� �C3��������������������C3��8���������9�� �������9�B
������� 9�� <���������:�� 9��� ������ @3�9���� �� 9�� ���� �� �������� �������B
��������� �� �3�������������9�� ��79����9�� <���������:�� 9�� ��� �������:�%

� 3��������� ���� <�������� �H: ����� 9�� ���� 8��������� 8�4������ �9C3������
��9��9����E��8���%�)�� ��4���F���:��;������������������F���:��9����� �����B
���� ���� <�������� C3�� ���9�������� ��9��� ���� 8��������� 8�4������ ��� 43����
8����� 8��� ��� ������� ;�9����������9�� ���� ���3����������%� )��  ��4���F���:���
?������9��E���8������� �����9���8���C37���9�� ��F��E������8��������� 9�� ����
9�<������������9����������������%���������D�����������8�������8�����������
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��7����� )������ ����� ��� ����� ;��<����� ��� ��83�������8���������9�� ��<�����
� �����%� ��� ���� �������� ��� �� ������ 8�� ������ ����� ��� ��� � 	 � ���������� ;�
8�������������� ����� ���3���9��9�� ����8��4������9�����9�39�� �H������� ����
8������ �3������� C3�� 8����� ��� 8�E������ 8��������� 9�� ��3���%� @E�� ���9��� ���
������@3�9���� �4����:�C3��9��6�� ��3���� �������4�� ������ ������� ���������;�
<3�� ���������� ���������C3�� ����8������9���D�����8��������� ������� ���8�4��B
F�� 9������9��� �� ���8������ ���� ������� ���������9�� ����8�� ������9�� ��3����
����:����� ;� �����3��3����:�� ��93������%

?��� ����� 8������ 3�� ��8����� ��9�� ��F� �E�� ��8�������� ��� ��<����� �� ����
�������9�� ����3���:��9�� ����8���������8�4�����%� ���8���4�������3���3���8���B
����� 8�4����� 8��� ��� ������ ��� ����� <������ 9��������� ���3�����9�� �� ���� ��B
9����� ���� ���3���9���� ����<���������������8���������������<���������9������3�3�B
����� ;� 8��� ������� ��� ����3���:�� 8������8������ %� !�� 6��6��� 8���� ��� ����3�B
��:��9�� ��9�������8����9���� ���<������������4��������9�����8����������������
�����3������N� ��� ����3���:��9�� ���3���9��� �3���� ���� �E��4����3��� ����3�B
��:��9�� ��8��43����E�������������C3��8�������������������3���������<�����9��
��9�� �D��� �� ����8�� C3�� ��� ����3���:�� 9�� �<��������� 8������� �������� �3E��
��� ��� ������ 9�� �4������ 9��������9��� ���3���9��%

���� 939��� ��� ����3���:��9�� ��8����� ��� ��� <����� �E�� �� ��<��������8����
����3���3��� 8�������� 8�4����N� ���� �� �������� ����������������8��� ���  ���B
���� ��� ���� ��� �� ����� ������9������3���:�� ��� ��;���7�<����%�?�����9���9�����
����3���:��9�� ��8����� ���83�9�� ����4������C37����4�������E��8��93����B
9������8���������9��� ����9�� ��� �������8������������9�� ���� ��9���93���;�9��
���� �38��� ��9���������������9�� ������9�9%��� 3����������3�������8����������
���� 4�������� �H8������ ��� 8���������� �������� �� ���9��� ��� C3�� 6����%� )���
����3�������� 9�� ��8������ 8��� ��� ����������� 8��� ����� ��4��� ��� ��� ���E�
�� ���9�� C3�� ���� �4�������� ��� �3�8����� ��� 9������ 8��� ����8���� ��� ��� ��B
�E� �� ���9�� C3�� ���� ���8������� 8��93F���� �E�� 8���� ��� �����9��� ��� 6�;�
��;��� ��8�9���F���:�� ��� ���8��93�9:��� ��� ���E� �3������9�� ���E���� �3���B
��9�� ;� ��� ����� ����������� ��� 8��93��� �� ����7�� 9��� �����9��������� 9�� ���
���8��� 9�� �������N� ��� ���E�� ����3����9�� ������ ������� ���� ��� ���E�� 3����B
F��9�� �E�� ��79���� ���%�� ���9�9���3E�������� ���� ���4���� �3�����������C3�����
8�������� ���E� 8��939��9��� 9�� ��9�� C3�� 83�9��� �������� 9�9������� ��B
4��� ��� ������3�9�9� �� 8���4���� ��9�<���9����� 9�� 3��� 9��������9�� 8�����B
����;�8����9����� ��� �� ��� ���8�� 9�� �����3��3��9:�%

�� 3���� ������ 8����9��������� 9�� ����3�9:�� ���E��  ����9�� �������N�
���������������9���������3�9:��9�������<���:�������3���������� �E����9��(�
���9�� ����3�9:��9��8����������C3�������93��� ���������� �34������������8��B
���9����� ��8��9�9�9������8����������9�������<�����9��������9�����8���9�� �H(

&� ������������C3��������8����<�������3����8��3��%��C3��������93��� ����8��������� 3����
������������ ��9��������%� +,��� � ������ L%� ;� 1���� ���� L%� �%�� ����	�����4� �� �%���� ���� �
�������� � )��9������� ���-.0$%
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8���������� ��� ��������������� ������8��9��������� ���� ���3���9��� �4�������%
1���������� ��� �����9�����:�� 9�� ��� 9������:�� 8�������� 9�� ��� ����:�� 9��

���� ������3�������  34������������� 8������� � �� ��� ����� ��������� ��8��B
������8���� ��� ����3���:�� 9��8���������%�=���C3�����C3�� ����8���������8�4��B
���� ���� 9���D�9���� <���3��9���� ��8�������9��� �� ��83������8��� ���� �����B
�3�������  34�������������� ��� ������:�� ������ 8���������8�4������ ;� �4��������
9�� ����������3�������  34������������� ��� �3;� ������6�%� ����� ����������������
9����������������<����������<������� ����8���������8�4������9��9������������3���B
���� 34������������5� ��� �� ���9�9�����3���������9�9� ;���� ������:����<3��F�%

W� #�� ���������� � ��� �3�����C3�� ���� 8���������8�4������ ���� �� ������ ����B
4����9���8�����;������������3;��� ����4�� �������� �� �����;��H� ��� �3�
�3�8��������� 8���8����� 9�� ���� ��39�9����%� )��� 8�6G������ 9�� ������
 �38��� ������ ����� ��� � ������� ���� ���8����������� ���%�� ��� ����������
��������������� 3��� �4�� ������9�9� �� ��%

m� #�� 	������������� � � � �� ���� � � �� C3�� ���� 8��������� 8�4������ ���8����B
���� �� ��9����������� �������9����� �����9�9�� �3�C3�� �<������9������B
������ �� �:���3���8�����9�� ������8��C3������9����������9��� ����9�� ��
���39����������8�����������3�����9����9����������9�9�6����������B
��9�%�)���8���������9�������� �38���3��� ���F���������:��������3�����
��3���8�����9����������9�9%

f� 1��������������������:����<3��F�������������9��C3������� ������������B
��� �:��� ��� ����43�9�� ��� ������� 8�4�����C3�� ������ ��� ����8�����9�� ���
������:��� �������� ��������8��������8���� ����3�8���������9�������4B
�������%

)������4��������� �3�6��� ������������6����� ����� ������9�� ���� ���B
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9�� ���E����� ����3��3���� 83�9��� �����D��� ��� <�� �������:��9�� ����  ���9���
<������ �� 8������������ �� ��9�9��� 8���� �������9��� ���� ��������� <�� �����B
9��� ;� �3������� ��� ����D�� 9�� ���� <�����%� =���� ��� ���� ��� ��� =�8��3��� $��
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=�8��3���$PN� ���� ��9��� ������8�E������8�������� ��� ������� ������ ����9��9�4�
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9�����8����������� ;������� ����������� ����������������M�� ����������������� ����%�$/���%�'��
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�� ��� �������������� ����8�������� ����:������� �:����9����� ���83������ �9��B
�: ����N� ��� 6�;� �� 3������� �7������� �H93;������ ��4��� ��� ���������9�� ��
�����������9�� ���  ������� 9�� ��� ��������9:��  34����������%� !�� 6��6���
��� ���83����%�7������ ���������� 83�9�� 8���������� ����9�9��� 9�� ��������(�
9���������������������9����9��<�����8��9����;�����3��9����8���<���������
��� �<�9��9�� 9�� ��� ��������9:�%

L�4�E� C3�� �34��;���C3��9������ 9��� �3���� 8���9� ��� 6�;�8���9�����
��������� ��� ��� �8�����9��� ����9�� ��� ������� ���8��5� ���93�9:��9��� ���B
��� ���������:������ ���39:�� ���������� �� <������ ��� ��� �����9��� �����3B
������� 9�� ����8������ ���3������ �� �7�������� ����9:�� �� 9�<����9��� ��� ���
�����4���9�9�8����9�� ���8����� �� ��� �����4���9�9� ��9��� O�H������9�9P��8��B
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93���:��9��4������8�4�������3;������������83�9��������������9��8�����3;��
8��93���:�� ��� ��8��������� ����9�����:�� ��������9�� ���� ��� ������9�9� 8��B
��9�� 8���� ��� 9���������� 9�� ��� ��<������3��3��� ;� ��� 8�� ����� ������: �����
������� 9�� 8��8��9�9� ;� ��4�������� ��4��� ���� ����������� ���������� 9�� �9��B
��������:�� 8�4������ ������� ���� ;�8���������9�� �8�;�� ��� ��������� �H��������� ��B
���������� �� ��� �� 8��F�� %

���3���������� ��� �3����� 6���� ��� E�4���� � ������� ��� ����8��� ��� ����B
����� ��� ������������� 9�� 3�� ������� ��8�� 9�� ��������������� ������9��� �� ���
����3��3��� � ������� �� ��� ������� ��� ;� �� ��� �C3�9�9�� 8���� ��� �9����� C3�� ���
����9�� ������8��9�� ���4�7�� ��� ���8����4���9�9� 9�G� ������� ���� 4����� 8����
���9���������� � ������� �� ����7�� ��� ����������9��� ����4�����������9��3�� ��B
������ ���������:����� ����4���� ����� 8�������� ��� �������:�� ��� ���3�����
63������� ��� ������� ��������� 9����������� �7�������� �� ���F��� ��� ��<����B
��3��3��� �������� ��� 3���� ��� 8�������:�� 9��� ��9��� ��4������� �� 3���� 3���
���8�������� 9����8����9�� ������ �������� ����� �H������������ ��83����B
9�� 3�� 9��E����� C3�� ����9�� ��  ������� ��� � 3��9�9� 9�� �8���3��9�9����
���9���:�� ��������� 8���� ��� ����� <3������������� 9�� ���� ����������� 9��
�����9�%

)�� ����������:�� �������� 8��� ������� ��� 9�4�� �����9������� ��� �� 3��
8��E������ �������4��%� ?��� ��� ���������� 9�4�� ���� ����������� ��� 3�� 9�4���
�����9�%� ?������� ��� ��� ������ 8��F�� ������ C3�� ����� ��� ���� �<������ 9�� ����
9������������ 9��� �����9��� ��� �� 3�9�� �7������ 9�4�� ����9���� ��� ��� ��B
9�����8��F���9��E��9������9������������9��������9������4�7���C3������C3��
��� 8��8��� ����������:�� �������� 6�;��  �����9�%

�6����4����� ��� ��� �9�8���3���8�����:��<��H�4���8���� �������� ��� ������B
���3�� ������9 �X<����(9��� ������ ���E� ���������� 9����� 3��� ���� �������� 9�� ����
8��������5� ���8�������3 �������8���������9�� ������8��F��������9���8�����3���B
������ ��� ��� 8�������� ���������� ;� �3;��� �4�������� ��� ��<������ �� ��� 8�����B
��:�� � �������� ��� ����4���9�9� 9�� ���� 8������� ;� ��� 8�������:�� 9�� ���� �������
� �������� ;� ��� �� 3�9�� �3 ��� ��� ��� ��9����� ;� ��� ��8��F�� �C3������8�����B
���� ������9��� ��� ����8�D�������� ������� 9��� �����9�� ;� ��� ��9����F���:��
����3��3���� ��� ��� ��9��� �3���� -�,��� �9�� �3����� ���=3�9���&%-P%

?��� ����8�D�������� ������� 9��� �����9�� ��� ������9��� �C3������ 8���B
������ C3�� 43����� �38����� 8��4������ 8���� ��� <3������������� �<�������� 9��
���� �����9��� � �������N� ��� �<������ ��� �������� �������9�� ����8������ ���9���B
������� ��<������ 8������� �3;� 9����������9��� ��� ���������� 8��� ��� ���9�� 9��
����8������� ����������������� �����8������� ���������������9��8���������9�� ���

-,� U�39����	%N����6��%�M��9�<���� ��6��������<� ������ �������� ���3��3���<����6��-..+�M��
9��3� �����9�����4����� �%�-+*����� ����8������8���:��9����� ��������9��� �3���" ��9����
; �)%�� ����R������%�R��6�� �����!%=%����� �� �@3�9������ �� ���4���-..+%
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8������ 9���������9��� �� ����7�� 9�� �34��9����� ���%�� ;�8��� �����9��� �9�����B
���9��� <3���������� ���������9��� ;� ���������� �� 3��9��%

?��������8���������7�<�����9����� ��4�����:��9���������������������� ���� ���
8��������������9�� ���� �����9��� � �������� 9�� ����8������ 9���������9���C3��
8������� ���9�����3��:��9�� ����8������� � �������� ���8����� �� ���� ��������C3��
8�9����� �����F��� ��� ��� �����9�� ��4��%� ��� ����� ����3����������� ���� ��<3��B
F���9�� ����8������ ��� 9���������� ����8�E����������� ��3��9���8�������8�����B
���� � �������� 9�� ���� 8������ 9���������9��N� ������ 3��9�� �� C3�� ��� ����������
��� ��9�<����� ���� ���9�������� 9�� 8��93���:�� �����C3�� ���  ������� �3�����
8��93�����C3�� ����<������ ��� ����3��3���9��� ����3���� ���������<3������ ��(�
�����93�4���� ���8����� ���������9��������9������ �����9���� ���������C3�����
�3���� �� ���� 8��4������ ������9��� �� ���� �����9��� ��������� ;� �� ���� �������B
������� C3�� �3� ��� 9�� ��� ���8�������� ��� �7������� 9�� ����9�9�� �<����������
��������� ���8���������� 8���� ���8����� ��� ���� �����9��� ��������� ���� ����
8��93�������� 9�� ������ 8�����%

����� ��8����� 8������8������ ��8������ ���� �7�������9�� ���8�������:�� �� ���
� ���3��3���� 8���� ���4�7�� ��<3��F��� ��������9��� �� ��� �� 3����:�� ;�9���B
������� 9�� �����9��� ���8����������8���� ��� �3��� ��� ��C3����� 9�� �����������B
���� 8�����3��������� ��� �7������ 9�� ������3������� 9�� �����9��� C3�� ����B
���������<������:������ ����9�9�����9�����43��:��� ���%�O?����3��9�����������E��
9������9��� �,��� � =�8��3��� 'P%

?������C3��6���� �� ����8���������9�� ��9����F���:��9�� ��� ����3��3���8��B
93������ �� ���83�9��� ��������� �C3������ 8��������� ���9������� �� <���������� ���
9���������� ������: ���� ;� 8��93������� C3�� ��� ��� ����� 9�� ��� � ���3��3��� ��B
C3����� 9�� <3������ ��������������� 9��� ����9�� 8���� ������������ ���� ���3�B
���� ;���� �������:��9�� ��8������ ������%

���������� ��� ��8�������� ��� ������������� 9�� ��� ��<������3��3��� ;� ����
���������� C3�� 8��� �3� 8��8��� ���E����� 9�4��� ���� 8������9��� 8��� ��� �������
8�4����N� �3�C3�� ��� �� 3���� ������ ��� 8���4��� �����8����� ��8������� 8����B
9����������8��������9���������:������� ���9���8��;������9�8��9��������9��
����� 9�� ������������  34����� �������� C3�� ��� 3���� ��� �����4���9�9� 9��
��� �������:�� ;� �����3���� ��� �����F���:�� 9�� ������ ������������ 8����9���
���8������������ �� 9�����9��� 9��� ��4������ ����9�� 8��� ���� ������������
8�4�����%

J�� �����<3�9��������8���� ��� ��9����F���:�� � ������� ����3�6���8��B
���� ���9����������� ��� ��<����� �� �����������F���:��9�����9��� �3���N� ����� ����B
����F���:��� �8����� 9�� �3�� ��8����������� ����:������� ����9�� ��� �����4���

-/� J���8���������:�� �������9��������������� 3� �������� �1� 3�������9��<���M!����������
� ��������� ���7�����)���� �M���� �	 �S��9���3�Q���O���8%P�� ��������������������������� �
	�� �� ��* 	 � � � �� �� �� 	 � �	 � � ����� � � � � � � ��� � � ,��� � � #���� � � @ 7H��� �� �9%� ��� � ��� ������
����:� �����-..-%
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����<3�9������������������9��������F���:�� 9����� �����9�9����� �3�6�� ���B
���� ��� 8�4��F��� ���� �������� 6����� ��� �C3�9�9�� ��� 9���������� �C3���4��9��9��
������ ������9����9��8����;����8���������:��9���8�������;����� ���3����� ���3B
�����%� �� ��<���� ���4�7�� ������� ���� 4����� 9�� 3�� ������������ �3������4��� ��
��� �� 8��F��;� ���9�����3��:�� 9�� ��� 6����� ����9�9� ����3��3����C3�� ��� ��B
����� ��������� ��� ��� �H8����:�� 9�� ���C3�9�9��� ���������������%� )�� ��������B
F���:���38�����9��E��3���9�����������:��8�������� ���<�����9������ ���3�B
�3��� ���8�����N� ��� ������������ ����:����� ;� � ������� ���  ������� ��� 8���
������� 3��� ���9���:�� ���������� 8���� ��� �3<�������� 8���� ��� �3�6�� ������� ���
8�4��F�� �3���%

?��� ����� 8������ ��� ������� 8������ ��� ��9�����43��:�� 9�� ��� 8��8��9�9� ;� ���
��������� 9�� ���� ���3����� ���3������8���� �������� �3� �H8������:��� �� �������B
<�����9�� ��9�� �3������4��� ��� 3���� ���3��� ���9���:�� ��9��8����4��� 8���� ���
���4���9�9� 9�� 3��� ������� ��� 9�� 9���������� �3���%� )�� �� 3����F���:�� 9�� ���
8��8��9�9�9�� ��� �������� ��� ���3����:�� ;���� �� 3��9�9� ��� ��� ��������� ���� ��B
8������9�4���� 8���� ��� �9��3�9�� 3����F���:�� 9�� ���� ���3����� ���3�����%

?��� �������� ����� ��8�� 9�� 8��������� ��8��������� ��� ��<����� �� ��� �����3��B
��:���������������9��%��������� 3����:��9������8������������:���������3�B
��� ��������� ��� 9���������� 9�� <������ 9�� �����9�� �<��������� ;� ���8���������
��� C3�� ��8����� ��� �:��� <���������� ������3������� 9�� �����9�� ����� ���� ����
������3���������8���� <���������� ���� ����3���� ������ ��� ��93������ ;� ���� 8�C3�B
D��� 8��93�������� �3������ C3��83�9��� �����3���� ���� ����3����:�%

=���� ��� ���� ��� E�4���� 9�� ����:�� 9�� ���� 8��������� � �������� ��� ��8�����
9�4���4��� ;�8��� �383�����8��8����� 8���� ��� 3����F���:��9�� ���� �E��9��������
�����3� �����N� ��� ���� �� 3������� ����� ���������� ����������� 9�� ��8���<�B
���� ��� 3�� 8����� �3;�  ������� ;� ���� <����� 9�� ���������:�� 9�� 8�����������
��E������ ���8�������3 �������������������������4���������������3�������9������
8��������� ������������� ���� �3�����8��������9�� ���� ����:�����������9�����(�
F�9:��;��3�����9�9�����������39��������;������ 3�9���3 ����C3�����8��9��
8���������C3�� 6����� 9�9�� ��� ������� ��<������ ����3��3�����%

��� �4����8��� ����� 8�����C3�� ��� ��� ��8���<���9:��9�� ��9��3��� 9�� ������
8���������� ��� ���9��9�� ����8���9�� ����9�9���9�� �3� �<���9�� ��9�� ����9�<��3�B
��9���9���3�<������� ������C3�� ������������9����<��H�:���E����8����8���8��B
��� 9�� ���� ������������ � �������N� �C3������ ������������ �:��� �� ���������3���
8�������9:����C3��E����� 9������8���98�����E�����9����9:��;�9������8���(�
98����� �����3������� 3����F�9���� ������ ��� ��� �H8�����9�� 9�� ��7����� )���B
��� ����� ��� ������ �H8�����9��� ��������������%

� � � ?	)>��=�� =	@��=��)

��� ����3���� 9�� ��������9����� ��� 8��9��� ���<� 3��� ��� 8�������� �����9��%�
���  ������� �H������ 9���  ���9��� ��8��� 9�� ��9�9��� 9�� ��������9:�5� ��9�B
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9��� ��� <��������C3�� �<������ ���� ���9�������� ���C3�� ��� �����F��� ���� ��8��B
���������;����� �H8������������;���9�9��� ���8����������������C3�� �<���������
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